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According to the table of students' favorite fruits,
which fruit is preferred by the least number of
students?

Teh el H TEEIET Al ohl Ueh qTfoTent it &1 778 2
BET 6 TEHAIRT Al shl AT o STHR, T8 FHH

HEAT B BT G h 1 |7 el TEE f3haT ST 22
et o AT ferenfeiat <y s
(Name of Fruits) (No. of students)
el (Banana) M
3™ (Mango) W
3WET (Guava) [ 1]
HAW (Orange) [ ]
(A) Guava (3TH%S) (B) Banana (3T
(C) Mango (31™) (D) Orange (HdT)
. The value of x in the given diagram is ?
3 g% STHIT H x I AH

(A) 88°
(C) 53°

(B) 77°
(D) 43°

An article is purchased for ¥ 7500 and sold for ¥
8400. Find the grofit:

Te o T 7500 ¥ BT T8 3T E 8400 H o= 75| @1
EISEAISDF

(A) %250 (B) T 450

(C)% 225 (D)% 900

Two lakhs two thousand, in digit, is written as:

. 3 NG &1 &SN ohl 3okl H 36 Yok fol@T STTdT &
(A) 220000 (B) 202000
(C) 2002000 (D) 200200

A

10.

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea
aﬁﬁw%ﬁvwﬁmaﬁ

1. A table of favorite fruits in a class is given below. 5. A flat surface which extends indefinitely in all

directions is called a:

T TuTE "o St ot et & sifafia w9 @ e €
T FEATd! &-

(A) Plane (HHda) (B) Line (@)

(C) Line segment ((@1EE) (D) Point (fﬁg)

By solving ZgXS% + 4$x 5; the approximate

value will be:

2;x3%+4gx5$ I A A T (ST T ITH
TATR:

(A) 1860 (B) 1870

(C) 570 (D) 38

If the height of Rajesh is 180 cm and the height
of Utkarsh is 150 cm. Then, find the (approx.)

average of both height in inches?
ugma?rm‘ 180 &I & 3TR IcohY sht HelTs 150

Y &, T ST Sl TS ST S (ST $9 | I
it

(A) 165 Inch (39)
(C) 254 Inch (39)

(B) 330 Inch (39)
(D) 65 Inch (39)

If the sum of digits of a number is divisible by 9
Then, the number will always be divisible by:

Ife ot T & SFeht 1 AT 9  forvrsa & Y, Hen
@W%{W@I‘iﬂ’ﬁ:

(A) 9

(C) Both 9 and 3 (9 311 3 gM)

(B)3
(D) 27

If a worker can make 100 bricks in 2 days, then
in how many days, he can make 2000 such
bricks?

T e ATy 2 FoT © 100 & a1 Tt &, T o Tt
T aT 2000 3 ST ThaT 82
(A) 100 Days (&)

(C) 40 Days (f&)

(B) 50 Days (&)
(D) 20 Days (f&)

The cost of two pen or 5 pencils is ¥10 then, what
is the cost of 4 pen and 4 pencils?

U AT 5 UThet it hHd 210 B, a4 U7 TR 4 R
Y i T 2
(A)Z 16
(C)Z 40

(B) %28
(D)% 56

C +9176108 79108
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11.

12.

13.

14.

15.

If gis a fraction, where q = p + 8 and

p
u+ﬂ=i then, what is a 2

p p 7 Y
aﬁ%qmﬁm%‘,aﬁfpwaﬂt - 4+%=§
ar 9 s am @

P
(A) 21/41 (B) 42/82
(©) 121 (D) 42/5

If each side of a square is reduced to half of its
original length, what will be the new perimeter
of the square?

afe Toreft 3 T ek VST T SEh! H TS & T4
S fearm ST, ot et 7= R @R g

(A) Half (3Trem)

(B) One-Fourth (T =ITS)

(C) Same (WHT)

(D) One third (T fa=Ts)

The perimeter of a square field is 4000 meters. In
this field, 2 date palm tree are to be planted in
every 4 square meter area. How many date palm
trees can be planted in total in the field?

T TR @ ST TIATT 4000 HX &, 36 @d § Tk
T RIS &S H 2 TS o IS O & | o H Fel
fohdl @S % U ORI 1T §eh &7

(A) 1000000 (B) 100000

(C) 50000 (D) 500000

Convert (6% -3 %) x 2 into decimal:

(6%—3%}2@3%1363%&

(A)3.33
(C) 44.44

(B) 6.66
(D) 33.43

Which of the following operations will not
change the value of a fraction?

1 9 @ 9 g1 AT {91 % 719 1 T sea?

(A) Adding the same number to both the
numerator apd the denominator.

(JIT ST &L T Teh T AT i ST

(B) Subtracting the same number from both the
numerator and the denominator.

(37T 3T Y T THTT AT St T

16.

17.

18.

19.

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

(C) Adding a number to the denominator and
subtracting the same number from the
numerator.

(BT Teh HEAT ST ST 37 § ST T b1 SH))
(D) Multiplying the same number to both the
numerator and the denominator.

(37T 3TV BT H Teh AT ST 1 T[0T LA

If the area of a rectangle is equal to the sum of
the areas of two squares of side 4 m. If 1/4 of the
length of the rectangle is 5 m, then what is twice
its breadth?

Al TF T HT &EhA 4 W ST A & A h

S o I o SR 21 IS AT hl SIS T 1/4

T 5 HIET 2, AT §Heh! SIS ohT AITAT &1 27

(A) 1.6 m (H) (B) 32 m (H1)

(C) 3.2 m () (D) 16 m ()

If (979.2 + 1.02) X 5 = 4800 then, what will be

value of (9.792 + 102) X 5?
IfT (979.2 + 1.02) x 5 =4800 T, (9.792 + 102) x 5

ST T AT 2T?

(A) 48 (B) 480
(C) 0.048 (D) 0.48
Rakesh and Suresh bought two ships for x Rs.

Each. Rakesh sold his ship for 50 lakh rupees,
earning a profit equal to the loss incurred by
Suresh, who sold his ship for 35 lakh rupees.
What was the total amount spent by Rakesh and
Suresh on both ships?

TRRT SR G A X 99 Wfd e T & 4 & S
Tlie| ThaT § AT ST 50 A & | sr=, oo
SH YL ERT 3STT T FoHET oh SIS ATH GAT, GOar 3
ST STETST 35 TG &9 H ST 2T | TehsT ST =T R
T STETSH o e <Rl T8 et TIRT 2 off?

(A) 85 Lakh (qT@) (B) 42.5 Lakh (TTd)
(C) 50 Lakh (@) (D) 95 Lakh (qT@)

What is one-fourth of the double of the
difference between the largest and smallest six-
digit numbers that can be formed using the
digits 1, 0, 3, 4, 2, and 6?

3 1,0, 3, 4, 2 3T 6 T TANT FHleh TS ST b

Tt Tl TSt R T BT B 3ehi hl T3 &

offer 3 ST % IR T Toh-=TeTS T B2
(A) 270427 (B) 270432
(C) 540864 (D) 540854

(49176108 79108

All Rounder BSS
- install
@ 4.9 % 500k downloads '

PIfT & fore 3nft dra B3


https://app.allrounderbss.com

20. From the numbers 1 to 100, if the digit 8 appears 23. The cost price of a book is ¥ 110 and the selling

x times and the digit 7 appears y times, what is price is ¥ 123.20. What is the double of the profit
the value of x —y? made on selling it?

T 1 & 100 7, AR 3iF 8, ¥ AL AT A 3fw Uk TEIh RIS HEA T 110 7 ST ek 9o T 123.20
7,y TSR, /Y X —y T A L 1 38 S T T T T ST 7T 22

(A) 1 (B) 8 (A)T13.40 (B)¥13.20

(©)7 (D) 0 (©)T26.40 (D) Z36.40

24. On dividing 1043 by a number, the quotientis 11
and the remainder is 20. Find the divisor?
1043 ! foret G & YT 23 T 9% 11 997 9%

21. A table of sales of a shop is given below.
What is the total number of sales recorded
between 11:00 AM and 02:00 PM?

T G i forshl 2t arfersnt =1 £ 78 21 20 SITH BT 8] HTSTeh J1d hIToRI?
HeE 11:00 51 & AL 02:00 9 F =@ et g (A) 92 (B) 93
forsht <ht st e fopft &2 (€) 23 (D) 43
Tershr ot Torshir < v
(Time of Sale) (Sale Count) 25. 0.220 — 0.202 is equal to?
0.220 — 0.202 SR &7
11:00 AM M
(A) 0.082 (B) 0.018
12:00 PM M| (C) 0.180 (D) 0.982
02:00 PM M 26. Which of the following pairs has highest
common factor 1?
04:00 PM Il fret fofiaa ot & & 1 @ 9 1 Aeam geTadeh |
?
(&9 ®)21 %A 5,15 B) 4, 20
(©)6 (D) 19 (A5, (B) 4,
(©)3,15 (D) 2,5

22. Find total number of acute angels in the given

Sh;ge: 27. If 1 m 20 cm cloth is required for 1 trouser, then
; ; : how much cloth will be required for 10 trousers?
ULHEIRARRIR RN s (ATl aﬁlw%mlﬁzo%ﬁ FUS I JTTTIRT
el 2, A 10 e 35 oA P S o e ey
(A) 10 m () 20 cm (@)
(B) 12 m (1) 20 cm (9
(C) 12 m (+fh)
(D) 120 m (¥t)

28. A fruit seller bought 30 bananas at the rate of 6
for ¥ 15 and sold them at the rate of 4 for ¥ 12.
Find his profit or loss.

Teh %A TaIshaT 7 15 & 6 1 & H 30 ohed WIS T
12 % 4 sl <0 9 o= feu) eer A sterEm gy Jia

Fifsra
(A) 10 (B)2 (A) % 15 Profit (1) (B) T 6 Loss(&T)
©)6 (D)4 (C)Z 9 Loss (&) (D) T 9 Profit (9IT%7)

TdId, RMS, ﬂﬁas RIMC, CHS & 3iTHeIrsd
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29.

30.

31.

| 32,

33.

A can complete a work in 10 days, and B can
complete the same work in 15 days. How long
will both A and B take to complete the work
together?

A TS T T 10 FeT 5 o o HehalT @, 377 B &

15 Tt & R FehdT 21 A 3T B firetent o€t she fordH

Tt 7 o i
(A) 10 Days (&) (B) 25 Days (f&)
(C) 15 Days (f&) (D) 6 Days (fe

If 6 boys can complete a work in 20 days then, in
how many days will 8 boys complete the same
work?

afe 6 ek forelt e T 20 o & T R Tkl 7, T 8

Tk 3HT M 2! foha fot o q ha?
(A) 12 Days (f&) (B) 18 Days (&)
(C) 15 Days (f&) (D) 16 Days (f&)

A farmer has 3/4 of a field planted with wheat.
He plans to plant 1/2 of the remaining area with
corn. What fraction of the field will be planted
with corn?

T FoRT o UT 3/4 © 18 & SR g3T 1 9 T &
T 1/2 HeeRT § S ohl ISHT SHTAT 31 @ T fohdAT

T HefehT § ST SITUT?
(A) 1/5 (B) 1/4
(C) 172 (D) 1/8

A square field has a perimeter of 1600 meters.
How many trees can be planted if 1 tree is
planted in every 2 square meters?

Teh TR &1t BT TRATT 1600 HeT B] I Tk 2
T HIe H | U TR ST &, A Fied fohe U g
ST Hehd 27
(A) 8000

(C) 800000

(B) 80000
(D) 808000

The length of a rectangular garden is 15 m, and
the width is 10 m. If the length is increased by 5
meters and the width is reduced by 2 meters,
what will be the new area of the garden?

Teh ARATRR s sl ofaTs 15 Hiet R e 10
e B Afg Talrg 5 Hiet sreT & <Y 37 =g 2 Hiet
W T S ST, Y Sl ShT T Sl T SN2

(A) 120 m? (B) 160 m?

(C) 80 m2 (D) 150 m?

34.

35.

36.

37.

38.

Td1d, RMS, 8fAas, RIMC, CHS $I 3iFesd

Convert | 7 g +3 z =+ 1 into decimal:
9 9) 2

2 2\ 1 ‘
(7§+3§)TE %1 SIMAAT H T&feAT:
(A) 21.88
(C) 20.88

(B) 2.88
(D) 20.98

Yashpal’s monthly income is Z 80,000. He spends
1/3 of his income on food, 1/6th part on education
and 1/4" part on transportation, Find his
monthly saving?

AT 26T HITEF ST % 80,000 2| T8 AT ST T

1/3 Tegar S W, 1/6 fewar f3rerr o ofiw 1/4 T
TTERT W G AT 1 SHeh! ATk sieid JTd shifsra?

(A)Z 15,000 (B) 20,000
(€)% 25,000 (D)% 30,000
Write 5.50, 0.05, 0.55, 0.005, 5.0005 in ascending

order.
5.50, 0.05, 0.55, 0.005, 5.0005 3T 3T shH T fora]|

(A) 0.005 < 0.05 < 0.55 < 5.0005 < 5.50
(B) 0.05 < 0.005 < 0.55 < 5.50 < 5.0005
(C) 5.50 < 5. 0005 < 0.005 < 0.05 < 0.55
(D) 5.0005 < 5.50 < 0.55 < 0.05 < 0.005

When 303.004 divided by 13 then what is
quotient?

ST 303.004 3T 13 & ST fE=T SITC A AT T BRTT2
(A) 23.308 (B) 23.38

(C) 203.38 (D) 230.38

Rohit bought a bike for 30,000 and sold it for
¥34,500. If he had sold it for 36,000, his profit
would have increased by %1,500. How much
profit did Rohit make by selling the bike for
¥34,500?

Tfed - T o159 % 30,000 W BT ST IH % 34,500

S fear| 3R 38 38 36,000 H S ST, dF 3HhT
AT T 1,500 5@ STar UfEd F g H T 34,500 §
SRt feRd =T AT SHHTIT?
(A) % 6,000
(C) % 4,500

(B) % 5,000
(D)% 7,500
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39. What is the difference between 9-digit smallest
and 2—digit largest number?

9-3ieh <h! Tl DT I 2-3ieh i Hol IS] TAT &
ST ST FATR?

(A) 999999901 (B) 99999901

(C) 999990100 (D) 99990901

40. Make the largest and the smallest number using
the digits 2, 5, 7 and 8. Now find the difference
between these two numbers. Tell which of the
following numbers is not divisible by this
difference?

3 2, 5,7 3R § 1 ITANT L gL T 9 F ToH
DI AT IATZY| 379 34 SHT HEIATHT T I J1d
FHifoR Farzd fF a8 =R i 9§ forw s @

(A)2 (B) 3
(©)5 (D)9

41. A chart of population of India is given below.
In which year the population of India was half

of 136.8?
Torer o s Y STEET 136.8 s et o2
Population of India (WTRd T
STHHEA)
80 68.4
70 _
60 54.8
50 4392 [
36.14

40 31.85

=i

1931 1941 1951 1961 1971 1981

Population in Crores SGEAT (FiTg H)

Population Y ear (FHEEAT I4)
(A) 1931 (B) 1961
(C) 1981 (D) 1971

42. In the figure given below,a = x,b = 2xand c =
3x then find the value of the greatest an

le.
ﬂ%ﬁﬁﬂ@%ﬁ,a=x,b=2x3ﬁ?c=3xé?ﬁﬂaﬁ
TS I T HT 1T IS

B

A
C
c b
A« /O : pD
(A) 80° (B) 90°
(C) 60° (D) 30°

43. 7 men can do a work in 16 days then, in how
many days will 4 men complete the same work?

7 JTSH) Ueh hTH o1 16 foT H ST Hehd &, 1 4 3T1eH)

I T T Tohd T 7 O HET?
(A) 23 Days (f&) (B) 24 Days (f&m)
(C) 28 Days (f&) (D) 25 Days (f&)

44. The profit made by selling an item for ¥ 900 is
twice the loss made by selling that item for Z 600.

What is the purchase price of this item?
forelt e 1 F 900 ﬁéagr@mwwagaﬁf 600

 Se T gS B T ST €| 39 %] 1 shd-Hed
fopaT &2
(A) 500
(C)Z 680

(B) %620
(D) % 700

45. A vegetable vendor buys 60 lemons at the rate
of 3 lemons for Rs. 2 and sells them at 6 lemons
for Rs. 5. What is his Profit?

T oSt fofshell 2 298 | 3 e ol 3T H 60 v Erdiear

8 ST I 5 T F 6 1] ST 21 IEeHT AT T 82
(A)T60 (B)Z 6
©)10 (D)% 0.6

46. If the area of a square plot is 400 square meters,
then what will be its perimeter?

Teh IMTeRR TATE ST &ABA 400 1T HieT &, af Id18y
TR GREATY fahaHT BT
(A) 75 meter (H12X)
(C) 70 meter (H1eX)

(B) 80 meter (H12X)
(D) 85 meter (H1eX)

C +9176108 79108
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47.

48.

49.

50.

51.

52,

There are 100 mangoes in a box. 2/25 mangoes
turned out to be rotten, 3/4th of the remaining
mangoes was sold. The number of remaining
mangoes is —

T US| 100 3TH €] 2/25 3T € Y ket 39 AT

T 3/4 AT o T T 9 sief 37T <At ST 8 —
(A) 21 (B) 23
©) 27 (D) 17

The sum of two odd numbers will be-

31 forem TEaTaT Rl AT BRI B

(A) Prime number (3THIST HE&AT)

(B) Always an odd number (ZHSIT Ush T weem)
(C) Always an even number (SHITT Ueh T TEA)

(D) None of these (3TH ¥ 13 Ta)

The difference between the largest and the
smallest 5-digit number formed from the digits
0,2, 5,7 and 8 without repeating the digits is-

%m:ﬂﬁﬁammo 2,5, 7 qUT 8 & &I aTett
5 e shl TS-H-TLT qAT 5 Jehi h BIA-V-BI T
% HEF T 3T B-
(A) 66942
(C) 67052

(B) 77942
(D) 60940

What is the sum of the place values of the digit 4
in a number 4765427 .
Teh ©E&AT 476542 | 37 4 6 TR AT 31 A0 1

22
(A) 40
(B) 4040

(C) 40040
(D) 400040

What will be the sum of the first 5 multiples of
12?

12 3 I 5 TUTSHT <61 AT fofeT 212
(A) 224 (B) 180
(C) 164 (D) 142

If 9587 — A = 7429 — 4358, then what is the value
of A?
e 9587 — A = 7429 — 4358, AT A hT AT T &7

(A) 5616 (B) 6156
(C) 6516 (D) 6616

53.

54.

55.

56.

57.

58.

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

In how much time will a 240 m long train going
at a speed of 60 km/hr cross a 270 m long train
coming in the opposite direction at a speed of 48
km/hr?

60 Terwl/siar =t =Tet & ST T&t 240 Hiet sl Th

YTt 3T faradia fewm o 48 ferfi/sier i ifa & =
T ek 270 Hiet el T ol ford= T0a | U i f1?

(A) 13 Second (HFU8)  (B) 17 Second (HFTS)
(C) 8 Second (HFTE) (D) 12 Second (HFTS)
Which one of the following numbers is divisible
by 4, 5,6 and 7?

A g -t ur gEan 4, 5, 6 991 7 9 9T 82
(A) 360 (B) 420

(C) 460 (D) 510

Solve: 1+ 2+{1+2 <+ (1+ ;)} ?

A hifor: 1+2+{1+2+(1+%)} =7

4 1
(A) 1g (B) ZZ
1 1
©) 45 (D) 52

In the afternoon, at 4:05, it is written-

SITEL SlTE, 4 ssteht 5 fie o fora St 2-
(A) 5:40 am. (TE)  (B) 5:40 p.m. (3TT=)
(C)4:50 p.m. (WEd) (D) 4:05 p.m. (3TYUEA)

Rohan got ¥40 on Diwali. He spent ¥17.50 on
crackers, 2.70 on lights, 15.80 on sweets. Find
the remaining money left with Rohan?

e ot fearet 9T 40 el 389 217.50 9erai |,

.70 A8 W, T1 5.80 THargai @ fohu| Ted o I&
e o s=T?

(A)T4 (B)Z6

(C)T5 (D)% 4.50

7085 meters is equal to-

7085 HeT ST B-

(A) 7 km 85 m (7 Tt 85 1)

(B) 70 km 85 m (70 ferHt 85 )
(C) 7 km 850 m (7 Tt 850 =)
(D) 70 km 850 m (70 feret 850 #t)

All Rounder BSS
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59.

60.

61.

Which is the correct word form of 9.04?
9.04 ohT &t ITeC T T 82

(A) Nine and four tenths (41 37 EIT(?{FI%)

(B) Ninety and four hundredths (785 3T 9 Hi4)
(C) Nine and four hundredths (3} 3T =T &)
(D) Nine and four thousands (:ﬁ 3R T*IIT%TFIT@)

Between any two rational numbers:

foregl 1 ufier weTsti o o=

(A) There are no rational numbers

(TS afe e e Bl €)

(B) There is only one rational number

(haeT Teh IIHT AT Bt §)

(C) There are infinite rational numbers

(3T TRy GEaTd Bt 8)

(D) There is only one rational number and no
irrational numbers

(eI T TTGHT HE@AT 3L 13 ST ST 781 aidt
?)

In the given graph, the data of 45 students in a
class is provided. After analyzing this data, tell
how many students scored 50 or more marks.

few T 7T T we e o 45 ferenioE s ger fear mn
21 39 221 1 TIo3907 steh srarsy for fora foramfofat =
50 3T 3TY 3fereh ek ITH fhy)

—
(=]

No. of Students (ST it TEA)

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
3k (Marks)

(B) 10
(D) 16

(A)9
©) 11

62.

63.

64.

65.

606.

qdled, RMS, AfRa5, RIMC, CHS & 3iTHaTeA

In the figure given below, a=y, b=2y, c=3y and
d=4y, then find the difference between greatest
and smallest an

les
CIERRIE W@ﬁfg a=y, b=2y, c=3y 3 d=4y g,
oY SIS I T8 B IV oh s T I J1d o]

C
H
F
(A) 54° (B) 72°
(C)36° (D) 18°
A shopkeeper bought a sack full of 50 kg rice for

Z 350. He spent Z 5 on labour to bring the sack to
the shop. How much profit or loss will he make
if he sells the rice at the rate of ¥ 8.50 per kg?

Ueh MR 50 form =maret & will ueh &l € 350

Triel| SE ST shi g e T o 17T T 5 Hfgdl 0
T ) afe 98 Tmaer £ 8.50 Ifd R T ex ds=r ar
39 fepaT Ty 21era =il 2ri?

(A) T 70 Profit (<1T9)

(B) ¥ 75 Profit (<T4)

(C) No Profit No Loss (QTFIT‘IQT‘GTE[)

(D)% 70 Loss (gT)

The prime factorization of 640 is:
640 3T TS UGS &

(A)2x2x2x2x2x%x5
(B)2x2x2x2x2x2x35
(C)2x2%x2x2x2x5x%x5
D)2x2x2x2%x2x2x2x5

How many lines can be drawn through two
oints?

e ERE

(A)1 (B)2

©3 (D) Infinite (3Td)

Simplify: 18 + [7 X 4 + (36 + 4 X 5)].

A BIR: 18 + [7 x 4 + (36 + 4 x 5)]

(A) 19 (B) 191

(©)91 (D) 119

(49176108 79108
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67. Estimate the product 5980 X 428 by rounding off 73. Find the perimeter of a square whose side is 18.2

68.

69.

70.

71.

72.

each number to the nearest hundred.

STCUh HEAT ! FHeheaH Hehs deh YT Tehd hish I
5980 x 428 T JFH T

(A) 236000 (B) 240000

(C) 2400000 (D) 3000000

If the unit digit of a whole number is 2,4 or 6 then
the number is always divisible by:

it foret quT T i1 3TS 31 2,4 A6 R A 8
(A) 2

(B) 4

(€) 6

(D) Both 2 and 4 (2 3T 4 gHY)

Vaibhav and Suresh can do a piece of work in 9
days and 15 days respectively. In how much time
will they together finish the work?

AT S YR T HH 1 600 9 fod AR 15 fea 7
qgrwm%@aﬁﬁwwmﬁmﬁwﬁ
T RN

(A) 8% Days (f&) (B) 52 Days (f&)

(C) 5% Days (f&) (D) 42 Days (f&)

The cost of 4 chairs is ¥ 900 then, how many
chairs can be bought for ¥ 337507 ‘
4 AT 1 S Z 900 &, T T 33750 H foaet et

Tl ST gehdt 27
(A) 15
(B) 150

(C) 510
(D) 155

Solve: 348 +36.4 + 9.35 + 0.473 + 0.0067 + 0.8
A hIT: 348 +36.4 +9.35+0.473 +0.0067 + 0.8
(A) 395.0287 (B) 395.2870

(C) 395.0297 (D) 395.00297

A room is 20 m long and 15 m wide. What will be
the cost of laying a 60 cm wide carpet on its floor
at the rate of ¥ 20 per meter?

Teh SHHTT 20 HYST T qeim 15 HieX =ieT | 36 w3t
W 60 Gt =<l et fors™ 1 @ % 20 g He i 5T
Y fopeT B
(A) % 500
(C) T 10000

(B) % 1000
(D) % 100000

74.

75.

76.

77.

Td1d, RMS, 8fAas, RIMC, CHS $I 3iFesd

cm long.

e 311 ST AT 1A hIST FSreehl 9T 18.2 St ieft
E

(A) 76.8 cm (T (B) 75.8 cm (9HY)
(C) 72.8 cm (9T (D) 74.8 cm (&)
Which of the following fraction is smaller:
e 8 @ el fi wed 31 &
324617

7'9'13'11°9

(A) 3/7 (B) 4/13

(C)7/9 (D) 6/11

Instead of multiplying a number by 0.72, the
number was multiplied by 7.2. This resulted in
the answer being 2592 more than the correct
answer. What is the initial number?

foreft ST 1 0.72 U A ST, 36 HEAT

7.2 9 TOTT FoRAT TTAT) 3k TROTTHEEEY 3T Hel ST o

2592 31feres 21 T ITfeR Gt T 87
(A) 400 (B) 420
(C) 500 (D) 560

The length and breadth of a rectangular plot are
40 cm and 30 cm respectively. Find the area of
the plot in square cm.UF TAATHR S i TAaTg

I =grg shAEn: 40 Hiet SR 30 Wi B @S *H
B a7 At 7 J1d hIfSTy

(A) 120 Sq cm (3 @t

(B) 1200 Sq cm (3 @)

(C) 0.012 Sq cm (=T AHY)

(D) 0.12 Sq cm (37 AT

Gopal reaches his school 5 minutes late if he
travels from his home at a speed of 3 km/hour. If
he travels at a speed of 4 km/hour, he reaches 5
minutes before school time. What is the distance
of the school from his home?

T {9 1 | 379 forarmerr 3 ferdfiyeier < s &
S WS fie o © ugerdn 21 A 9 4 fori/eer
T = AT TorerTery o S § 5 fie aeet ug e St
2| 38 = Toremmery ot g foraft 22

(A) 1 km (fdh) (B) 2 km (fere)

(C) 3 km (feref) (D) 4 km (feH)
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78. Harbhajan Singh bought 500 kg of rice for 82. If angle 1 is 1/4 of the angle 2 then what is the
22000 and sold it all at the rate of 48 per kg. double of angle 2?
How much profit did he make? ﬁWl,@WZWIM%?ﬁ@WZW@QHTW%?
g fiE 4222000 H 500 fereiim =reret @iier it

34 48 Wi Foretmme o feamer & o= foam 3e o

AT HHTET?
(A)Z1500 (B) %2500 2 1
(C) %3500 (D) %2000 < >
(A) 144° (B) 288°

79. Which of the following statement is correct? (C) 36° (D) 180°
freferfaa § & s—ar o |t &2
&) 5w s e 9dd n‘fmber 83. A Kushal bought a machine from a factory for
(@@%WH@T 2) Z80000. He paid the octroi tax of 1600 and spent
(B) Zero is an even number %800 on transport besides 300 on porterage. He
(31 U O e & sold the machine for one lakh rupees. How much

S , _ ) was his profit?
{8) et 16 @ i w5, FI T T HIH £80000 ¥ U H A Wi e
([ T ST WA &) %1600 1 ST T, 2800 UG T 3R 300 A1
(D) Zero is neither odd nor e\fen ngmber ITeF W @9 FRaTl 369 TS # £100000 F =
([ AT AT | AT & oo 6 €) ST T T o2
A)Z17300 B) %7300

80. What is the sum of the place value of 5 in the ) ®)
number 5843562 (C)%10300 (D) %7600
HEAT 584356 1 5 o AT AT T AN AT &2
(A) 10 (B) 50050 84. The common factor of 12, 16 and 24 are:

(A)1,2,4 B) 1,2
81. The line graph below presents the profit data for (©)1,2,4,6 (D) 1,2,3,4

a company across various years. Calculate the
difference in profit between the years 2004 and 85, Which of the following pair of angles is

2010. . supplementary?
et T e T s fafir= ot o W st o At o T IO T T T GRF 29
WWW%IEQQZOO4 3R 2010 & sfiwr AT (A) 58°, 132° (B) 67°, 113°
S AT U (C) 89°, 81° (D) 116°, 84°
100 -
- 86. Simplify: 1107 + 9 X 6 + 236 — 874=?
ESO BA HISRL: 1107 + 9 x 6+ 236 — 874 =?
70
E 60 (A)O (B) 50
7 50 (C) 100 (D) 200
£ 40
£ 30
= 87. Which of the following fraction is the smallest
£ 10 fraction.
0 e Frefefiaa o & = ©f fa= g 81 = 2
0 2002 2003 2004 23(:; (2;);))6 2007 2008 2009 2010 (A) 11/15 (B) 9/8
(C) 12/13 (D) 3/5
(A) 40 Cr (B) 30 Cr
(C)50 Cr (D) 90 Cr
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88. Find the area of shaded region in the below

given shape.

e TS TTRf | BTATTRT &1 T &%l I hITST)

15 cm
2 cml

1IN

\ Ui,
i)

2 cm 2cm

(A) 120 cm?
(C) 54 cm?

(B) 66 cm?
(D) 186 cm?

89. Find the estimated difference of 865439 and

235407 by rounding off each number to the
nearest hundred?

ek T ! TR Eehe ook qUTiTehd e 865439

HIX 235407 3T IFFATA SR 1 HITT)
(A) 630000 (B) 635000
(C) 625000 (D) 635400

90. There are 128 boxes with 36 toffees in each box.

If l1ess than 4 toffees are put in each box, then the
number of boxes in which the same toffees can
be put?

128 %@%fmﬁs@m%@ﬁ 36 2iftRat 21 IS T
T T 4 O vy 21Tt Wl STt 8, A1 3 fSoali st &w@an

forat & TS woT Sifthat Tt ST Eehdt 22
(A) 108 (C) 144
(B) 216 (D) 360

91. The product of two number is 1323, If one

number is three times the other, then the greater
number is?

< eIl A UARA 1323 €, I Uk e gal
HEAT 6T 1 T 2, T SIS EeT w9 87

(A) 42 (B) 53

(C) 63 (D) 57

92.

93.

94.

95.

96.

97.

98.

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea
aﬂﬁw%ﬁvwﬁmaﬁ

The difference between the greatest 6-digit
number and the greatest 4-digit number is?

Tl L 6 IhIT T N e ST 4 IHhT T H
s T ST FAT Y
(A) 990000

(C) 9980000

(B) 998000
(D) 980000

The predecessor of one lakh is?

T TG 1 qad i 22
(A) 99999 (B) 100001
(€)1000001 (D) 999999

An article was purchased for ¥ 1380 and sold for
Z 2360 after spending ¥ 230 on its transportation,
find the gain?

T R ol T 1380 W GiaT 1T T Iieed W ¥
230 =T T o T T 2360 H &= 7T, ATH J1d

it
(A) 750 (B) 850
(C) 650 (D) 950

Instead of multiplying a number by 0.72, the
number was multiplied by 7.2. This resulted in
the answer being 2592 more than the correct
answer. What is the initial number?

forell T i 0.72 & U A F IS, 36 HEAT
7.2 9 UM foRaAT TRAT) 3k TROTTHEEEY 3T HEl ST H

2592 3fereh 21 7| ITfTeR H&T 1 82
(A) 400 (B) 420
(C) 500 (D) 560
Simplify (8 h):

48 +~ 4 %X 3{96 +~ 6 —(3 X 5 + 15)}
(A) 520 (B) 530
(C) 540 (D) 560

Find the area of a square whose perimeter is 54
cm?

T ot 3T &Rt T ShIfore forrert wftmmy 54 @t 22
(A) 182.25 (B)13.5

(C) 192.25 (D) 54

Which of the following is the smallest prime
number?

fFreafafiga & @ g S 1ve eI HF i R?
(A)O (B) 2
(€)1 (D) 3

(49176108 79108
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99. What is the decimal equivalent to 13/25?
13/25 1 SRTHCTS A T &7

(A) 0.47 (B) 0.52
(C) 0.57 (D) 0.53

100. The number 7086*54 is divisible by 9, find
the value of *?

AT 7086*54, 9 U favrsa 8, * o1 A F1d hifSTe?

(A) 6 (B) 8
©7 (D)9
101. The pie chart illustrates the preferred

subjects of students in a school. If the total
number of students is 1,440, calculate the
number of students who prefer Mathematics
based on the given data.

T3 A1 U hel § ST o THAIET forwai 1 gemiar 8
afe BET T FHA H@AT 1,440 &, 1 Q¢ SAiHT
HTER T T TS A Tl BT bl AT hT TOMT
£l

Bangla
(sTTT) Maths (Tlﬁﬁﬂ
70° 50°
History
(3ferer) English
65° (@ﬂ\’rﬂ’)
Science 60°
()
75°
(A) 90 (B) 180
(C) 360 (D) 720
102. In the given figure, find the value of x, y and

z.

0 25°
< 40 >

TS SATHI |, x, y 3T z T T 1d HIfSQ)
(A) 40°, 140°, 115° (B) 140°, 40°, 115°
(C) 115°, 40°, 140° (D) 115°, 140°, 40°

103.

qdled, RMS, AfRa5, RIMC, CHS & 3iTHaTeA

Krishna bought 35 electric mixers for ¥4300
each. To transport them to the shop, he spent
%2100. If he expects to make a profit of 21000, at
what price should he sell each mixer?

FUM A T4300 H 35 Setforgeh et @lie| 3 g a
TEA o T 36 22100 T fohT) AfE 36 221000 1
TATHT € sh1 SHTG &, 1 S ek oo =h! foher shimra

T ST TR

(A) 4966 (B) ¥4961
(C) %4960 (D) %496
104. The Which of the following is 1 second of 1
hour? ]
1 5i¢ %1 | Tehe Frmfofiad | & & |1 82
(A) 0.00028 h (B) 0.0827 h
(C) 0.0027 h (D) 0.0072 h
105. Which An angle measures 29° more than the

difference of 136° and 77°. What type of angle is
it?
Teh RIVT 136° 3R 77° o ST & 29° Afeeh 7TaT 727
1 T TR T T R1oT B2
(A) Acute angle (JIT 1T
(B) Obtuse angle (37ferek shIvT)
(C) Right angle (TN
(D) Reflex angle (Sfdaret aniom)
106. Simplify: 77 + 7 X5+ 30f8 +4-28 +7 -
6="7
77+7 x5+ 38 +4 — 28+ 7 — 6=2 3 &A hllo:
(A) 51 (B) 41
(C) 61 (D)5

Find the value of 1;+22—1.

3 6
1 2 1 ¢
D
2 3 6

(A) 2
(C) 1/4

107.

(B) 12
(D) 4
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108.  Find the area of shaded region in the given
figure:
21 g3 AT H STTohd T T & J1d TS
- -
2cm 2cm
6 cm
8cm
10 cm
(A) 44 cm? (B) 36 cm?
(C) 80 cm? (D) 12 cm?
109. The approximate value of (526.88 + 3.2) is?
(526.88 + 3.2) T TR HH T &2
(A) 160 (B) 165
(©) 170 (D) 175
110. The capacity of a bucket is 20 liters of water,

3/5 of it is filled with water, how much more
water should be added to fill the bucket?
Teh STed] Shl &THAT 20 et UHT T 8, SHRT 3/5 T

Ml 9O B, Sedl W & oI fohar 9t 3T
forerm =nfew?

(A)12L (©)10L
(B)SL (D)oL
111.  Find the prime factor of 231?
231 T TS UGS T HL2
(A) 3x7x11 (B) 3x7x13
(C) 3x11x13 (D) 3x7x17
112.  Find the sum of place values of 7, 4 and 3 in

the number 97(}3246? y
GEAT 9703246 | 7, 4 31T 3 o TAT HHET 6T TN JT

EAII

113. If (A+1) is an odd number, then the two
other odd numbers nearest to it are?

I (A+1) Tk fomw €& 2, o 3o Hehea & 311

(A) A+3, A+5 (B) A-1, A+3
(C) A-3, A-1 (D) A, A+3
114. A shopkeeper earns a profit of 75 on sewing

machine. If the cost price of the machine is =
2018.50, then what is its selling price?
T GhMER FHeTS Hefi X Z 75 T AT AT 2

Ffe w1 1 3T 4o £ 2018.50 2, T 36T forshd
T AT &2

(A) % 1943.50
(C) % 1983.50

(B) £2093.50
(D) ¥ 2043.50

2
115. John had 2% cake, His friend ate 15 of the

cake. how much of the cake left?
S % UTE 2% heh T, 3Heh S1&d o 1% e @ fotam)
Sheh o1 fehaHT T ST=IT?

(A) 2/3 (B) 2/5
(C) 5/6 (D) 1/6

116.  Simplify: (3 &%)
5 + 50 + 55 = 5500 + 555 =+ 555000 =?
(A) 1 (B) 0.1
(C)0.11 (D) 0.111

117. The perimeter of a rectangle garden is 354
metres and its breadth is 62 metres. What is the
length of the garden?

Teh RIS ST st itfey 354 et ® v s@eht
=erE 62 et 31 srf= Y SAalre fohert 22

(A) 105 m (B) 110 m

(C) 115m (D) 120 m

118. If (-1) is multiplied by itself 75 times, then
the product is?

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

(A) 703040 (B)700340 Ffq (~1) 1 TR | 75 SR UM FRAT S, T OGS
(C) 304070 (D) 700034 TR

(A) -1 (B) 75

O1 (D) 75
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f . I 9 ; 123.  An article is sold for ¥ 500 and hence a loss
119.  What is the decimal equivalent to 52_0 : is incurred. Had the article been sold for 700,
9 the shopkeeper would have gained three times
52—0 WWH’H@F\’TW%? the former loss. What is the cost price of the
article?
() S48 &)525 Teh g 500 8 St STeft & 31 36 FohR Jehe el
©5.75 (D)5.35 31 = g 2700 F S A, A TEAGR TR F
1352 WWWWW@H“WW@WW
120. Arrange —,—,—,— in ascending order? =T
®3'10'6'5 & &
1 352 ] ] (A)T 525 (B)¥ 550
g’ﬁ’g'gqﬁa'ﬂg'w‘}mﬁww (C) T 600 (D)% 650
NERE = 284
(A) 10'3'5'6 (B) 10'5'6'3 124.  The value of 302°F in degree Celsius?
© 521 3 o) 512 3 302°F T Gifce=d o 0 17 27
65310 63510 (A) 150°C (B) 120°C
(C) 165°C (D) 151°C

121.  The line graph below presents the sales data
for a company across various years. Cal aiIICHRERIOEININN, angle is three times half of a right angle.
difference in sales between the years 2005 and F in d its supplement.

2003.
ST e s B s et o S =5 ST FAGHIT 81 F867 S

. @w EQY
ST T ETT 81 Y 2005 3T 2003 6 st forshl & AT N :2? .
ERIEIETY ) ®)
(C) 145° (D) 45°
12
(A o 126.  Simplify: (& SIfS:)
Jé i /S
?E 8 2 14 2 5
< (A)91/145 (B) 98/145
SR (C) 93/145 (D) 97/145
i
8 127. A boy spends 1/3 of his money in a shop, then
s 2 he goes to another shop and spends 1/2 of that
was left. He is left with ¥ 15, Find out how much
0 .
total money did he has?
0 2002 2003 2004 2005 2006 @mm 1/3 W@T@WW@#WQW%
g iy ?)6 . 2 5 et obeT ot ST & St et g8 T T 172
(C)3Cr (D) 102 S T AT 2| 3Tk UTE ¥ 15 S=d 8| Sq18U 39k ITe
()3 Cr By 10 e Tepat e sreit?

: . . (A)T30 (B) T 40
122. Inthe figure given below, x = 5y, Find x -y.
ﬁﬁﬁﬂ'@%ﬁ,x=5y,x—yﬂﬁaﬁﬁm (©)T45 (D)% 60

128.  Find the approximate value of the following
expression (in whole number)?

ST 3hT Hir=Tehe W (YOI H) T hiTSTT?
< > 349 x 51+ (632 = 31)
(A) 120° (B) 150° (A) 17522 (B) 17520
(C) 30° (D) 180° (C) 17821 (D) 17521

qdied, RMS, |, RIMC, CHsa‘?rHH?vnsﬂ " +9176108 79108
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129.  Find the area of shaded region in the below
given shape.

e TS TTeRf H BTATTRT &1 T &%t I hITST)

3cm
3 cm
2 cm
5cm
(A) 25 cm? (B) 9 cm?
(C) 15 cm? (D) 16 cm?
130. Ram got 20 marks less than Shyam while

Anil got 5 marks more than Shyam, if all three
got total 225 marks, then how many marks did
Ram get?

TH ! T © 20 37k 3w fired Steifer 31fe =6l wm &
5 37k 3rferek firet, afe T 1 et 225 e e,
w1 T 37k fier?

(A) 90 (B) 85
(C) 80 (D) 60
131.  Find the prime factorization of 90?

90 T WY UGS 1T HL?
(A)2° x 32 x 5! (B) 2° x 32 x 5!
(C) 2 x 32 x 5 (D)2' x 32 x 5!

132.
TR 90.0675 1 15 9 farrfsra foram Sire, ar et s
BAT?

If 90.0675 is divided by 15, then the quotient

134. The greatest 5 digit even number that can be
formed by using the digit 5, 0, 9, 4 and 6 is?
3% 5, 0, 9, 4 ST 6 51 ST ek TS ST et T

oY €T 5 3okl hl GF H&IT shi € 22
(A) 95406 (B) 95604
(C) 96540 (D) 95046

135. Rahul purchased a TV for 3000 and spent

300 on its maintenance. If he sold the TV for
¥3500, find his profit.
TES = 3000 H T el @I HIT FhT HOHA T

300 T forT) AfE 38 et £3500 H ST, T 36T
AT foheT gm?
(A)Z 500
(C)% 200

(B) %250
(D) %300

136. The number 4318 should be divided by
which number so that the quotient is 17?

HEAT 4318 ! Tohe G © fornfora foram se fom
qWTH 17 812

(A) 242 (B) 246

(C) 248 (D) 254
137.  Simplify: (BT :)

6+6+6X6-6=?

(A)1 (B)7

(C) 31 (D) 36

138.  Find the length of a rectangle whose breadth
is 22 cm and area is 924 cm??

Tk ST T TS T ShITSTT forerehl =ieTs 22 Tt 37T
8% 924 cm? 87
(A)42 cm
(C) 46 cm

(B) 38 cm
(D) 44 cm

139.  Which of the following pair of numbers is co-
prime?

TreafarRad & & @emsii s F1H 1 0 He-37 22

A) 6.0045 B) 6.0450 (A)(39.45) (B (LD

(A)6. B)e. (C) (56, 63) (D) (91, 104)

(C) 60.0450 (D) 0.6045

140. Which of the following fractions is the

133.  14/5 of an ordinary year equal how many greatest fraction?

weeks;'ﬁfEBTM/S‘TPTf e 5 S 20 Tl & @ i = i woe ot e 22

N g ' (A)17/29 (B) 12/29

) ®) (C)24/29 (D) 21/29

(©) 90 (D) 77

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea
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141.
decimal form?

Frafafiga sise = semee w9 § @ fifse?

Simplify the following expression in the 145.

[ 2% 3 P j
(+—+—+——
10 100 10000
(A) 7.2039 (B) 7.2309
(C) 7.0239 (D) 7.2319
142. A table of books placed in rows is given
below.
How many total books are there in Row-1 and
Row-4? ]
TRt H Tt TS b ohl e dTiteh (1=l a1 715 o Tfth-
| SR Ufh-4 § et TohaT Tecteh 87
‘Tﬁh‘(Rows) (No. 0; CEFI';S ﬁf:le.rr) ﬂ] =1 Book(ﬁﬁﬁ')
TfE-1 (Row-1)
Tfe-2 (Row-2)
ufth-3 (Row-3)
ufh-4 (Row-4)
-5 (Row-5)
(A)9 (B) 10
(©)11 (D) 16

143. In the figure given below, x=6y+40, then
find the difference between both the angles
= €1 TTS SRR H, x = 6y-+40, AT ST IO ST

AT J1d IS
D

Ad pB
(A) 140° (B) 160°
(C) 40° (D) 20°
144. A trader sells a ball pen at %15 each or a

packet of 10 pens at ¥120. If Anisha purchased 22

ball pens, then how much she has to pay? ]
Teh AR T St U 15 5 4T 10 ﬁ?sﬁr%%h—eflzofr

S 21 afe Stfem 4 22 §fet 9 wiid, o 34 feadt 149

Tfsr & o
(A)T330
(C) 2270

(B) 2264
(D) 2280

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

What is the supplement of the complement
of two-thirds of a right angle?

HHHIVT o SI-[TETS T L hIVT HT AR ohI0T T &7

(A) 120° (B) 150°

(C) 30° (D) 60°
146.  Simplify (8 HI):

1,15 13,

12716 24

3 5

A)l— B 1—

(A) 16 (B)

C 1— D 1—

©13 T
147. The product of two number is 2925. If one of

them is 195. Find the other? ]
31 AT T TUEERS 2925 2l A ITH § T 195 B

1 H EEAT 1 shife
(A) 12 (B) 15
(©) 18 (D) 25
148.  Find the area of shaded region in the given
figure: ]
&1 8% SATHI H BH{Tohd T 3T &6 J1d hIISR:
ST A
6cm
15 cm
6 cm
16 cm

(A) 144 cm? (B) 96 cm?
(C) 44 cm? (D) 240 cm?

Estimate the difference of 879 and 338 to the
nearest hundred?

879 S 338 o I FHT FIAW [HHeaH kg T
T

(A) 550
(C) 500

(B) 540
(D) 600
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150. There are 80 students in one class, which
have 2/5 of boys. What is the number of girls in
class?

T e § 80 formmeff ¥, S 2/5 <iek 81 e |
TTefoRal sht e ferd-l 22

(A) 42 (B) 45
(©) 46 (D) 48
151. How many pairs of twin primes are there in

the first 50 natural numb‘ers?
ToH 50 YTehideh GEATSA § STWIT S[gal Hensil &

(A) 4 (B)5
© 6 (D)7
152. A student multiplied 7236 by 65 instead of

multiplying it by 56. By how much was his
answer greater than the correct answer?
T B A 7236 i 56 © 70N FA o S 65 & 701

T fe=m Wwwwﬁﬁﬁmmw
(A) 87555 (B) 65124
(C) 72360 (D) 65000

153. The sum of the greatest 5-digit odd number
and the smallest 5-digit even number formed by
using the digit 8, 1, 7 and 6 is?

3 8, 1, 7 3T 6 T TANT Tk T3 75 dad IS 5
3o shT Torem €T X §ar BT 5 37hi hl TH H&AT
T 2T T 22

(A) 103527 (B) 100439
(C) 100317 (D) 100867
154. A shopkeeper sells a ball pen at ¥12 or a

packet of 10 ball pens at ¥100. If Mrs. Swami
purchased 24 ball pens, then what will be the
purchase price of them?

Ush GohHER U el U €12 AT 10 Siiet U4 T Yohe
£100 | S=rar 21 Ffe ofiwdt st 3 24 s 07 @i,
RUEECIRCHCR R K2 IRt
(A)ZT212

(C) %248 (D)% 258

155. Which is the least 6-digit number exactly
divisible by 83? ]
83 § QUi farvTSa 6 STehi hl Hert BT Tt i €l
&7
(A) 100008
(C) 100015

(B) %238

(B) 100012
(D) 100021

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

156.  Simplify (8 h):

5+ [5+ {5+ (2+5)}] =?
(A)S

(C)7.5

(B) 2.5
(D) 12.5

157.  The area of a rectangular field is 1482 square
metres. If the length of the field is 57 metres,
then what is the breadth of the field?

T AR HaH 1 &% 1482 a1 Hiex 71 I
e Y aTs 57 HieX 8, a1 Hae At e @ 82

(A) 18 m (B) 32 m

(C)28 m (D) 26 m

158. I am a prime number. If you subtracted 2
from me, I become divisible by 7? ] ]
T Uk IS HEAT g AfS ST qgH | 2 51 <, aTH 7
CRERIR RIS ISTIIY

(A) 29 (B) 19
(©) 31 (D) 23
159. Simplify the following expression in the

decimal form? .

frfcrfiad uisteh shi axmets &9 § W hifem?

- 9 _,
10 1000
(A) 2.571 (B) 2.391
(C) 2.591 (D) 2.791

8
160. The sum of 27 and its reciprocal is?

2% 3T 36 A T AT 1 22

(A) 138/17 (B) 288/119
(C)328/119 (D) 338/119
161. The difference between two complementary
angles is 10°. Find the angles.
21 T IV ok ST T ST 10° B HI0T J1 i
(A) 55°, 45° (B) 40°, 50°
(C) 50°, 60° (D) 100°, 90°
162.  Simplify (3 i)
6.4+0.8 0f 5 + 0.6x0.3-0.4 =?
(A)1.18 (B) 1.38
(C) 1.28 (D) 1.48
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163. A school is analyzing its attendance data.
The table below shows the number of absent
students for each day of the week. On which day
did the school have the highest attendance?

Tk et 310 SafRurf Ser o faredwor o T B e
TS ATCTeRT WHTE o e fot sruféera s ol €

Rid! 2| foret fomt e o e aferes Saferfir of2
7 (Day) ) OfAlii::tiz:)r @ =1 A‘:)sentee

HIE® (Monday) @ @ @ @ @

TS (Tuesday) S8

THAR (Wednesday) @

Ty | GFEEECECCEE

YA (Friday) @ @ @

‘STﬁElT{(Saturday) @ @
(A) Monday (8194T) (B) Tuesday (WTea)
(C) Wednesday (§99R) (D) Thursday (TTea)

164. In the figure given below, Find the value of

X.
e g srreRfa #, x 1 A 1@ A

< >
(A) 32° (B) 98°
(C) 130° (D) 82°

165. When a radio is sold for 680, there is a loss
of 120 to the shopkeeper. To earn a profit of
%120, for what price should the radio be sold?
TSl U (AT 2680 H <= ST €, AT GIaT I £120

T ToRET AT 81 T120 T TATHT FHAM o forg, et

! forer shiHd O sieFT =iee?
(A)Z720 (B) 800
(C) T820 (D) %920

170.

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

166. A train leaves a station A at 9:20 am and
reaches station B at 1:30 pm. The time taken by
the train is:

T oF TIF A § HoI8 9:20 Sl =erd! 8 3 EIH B
TR 1:30 &S] gl €1 ¢ ST foram T wee <
&7

(A)4 h 10 min (B) 4 h 35 min
(C) 3 h 59 min (D) 4 h 30 min
167. Find the largest 4-digit number which is

exactly divisible by 66?
4 3! ht FEH ST HEAT J1d HIS ST 66 H YOI

favrsa 8

(A) 9956 (B) 9966
(C) 9976 (D) 9986
168. Find the area of shaded region in the given

figure:

a%eéawﬁrﬁmﬁﬁma»‘r TR JTd IS

20 cm

12 cm

(A) 240 cm? (B) 140 cm?
(C) 40 cm? (D) 100 cm?
169. The approximate value of (6.97x0.093) is?
(6.97x0.093) T STIAT A FT &2
(A) 0.5 (B) 0.6
(©) 0.7 (D) 0.8

The weight of Gopal is 6 kg less than Amir
and the weight of Gopi is 2 kg more than Aamir,
if the weight of these three is 137 kg, then Aamir
weight is?

YT o1 IS AT & 6 Tohetomg o7 & 30T Mt 1
oI TR & 2 Teretiumy S1fre &, afe 37 il st o=

137 forctiom 2, at STTTHL o1 i fohaHT 22
(A)47 kg (B)42 kg
(C) 41 kg (D) 49 kg
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171. How many numbers are there containing 3

digits?

3 3k ATt foRaHt BEaTd 82

(A) 899 (B) 900
(C) 901 (D) 902

172. One number exceed another number by 36.
The sum of the number is 48, then the number
are?

U HEAT R AT § 36 3Afereh 2 Tl h AT 48
&, a1 wend 7 82
(A) 40, 08
(C) 42,06

(B) 36, 12
(D) 32, 16

173.  The smallest 6 digit even number that can be
formed by using the digits 0, 4, 2 and 3, if each
digit is used at least once is?

3 0, 4, 2 I 3 T ITANT FHleh TS ST T ATl

G BIET 6 Tehi hl GH AT I € 2, IS Tcdeh 37k

ST HH U HH Teh S STANT {ShaT T=IT 817
(A) 222034 (B) 203444
(C) 200334 (D) 200034

174. A Rahul purchases a TV for 3000 and spent
%300 on its maintenance. If he sold the TV for
¥3500, find his profit.

TEA = T3000 & T el GLET TR FHehT 70T T

£300 T fory) e 38 At £3500 7 <=f, Q1 SHehT

TATHT fehe T g
(A)Z 500 (B) 250
(C) 200 (D)% 300

175.  Simplify (3 HI5):
0.25 + 0.125 + 0.5 x 0.125-0.5 =?
(A)1.5625 (B) 0
(C)2.225 (D) 0.625

176.  Which of the following symbol is not used g3

more than once when writing a numeral in the
Roman numeral system?

U9 31k YoTTedt § 37k forad oy fefafaa g @
I ©T Tel1eh Ueh § 3Tk ST ST &} fohaT STTdT 22

(10+5x3—5)+5

Simplify (3 ) =?
implify (& ) o a2
(A)3/11 (B) 4/11
(C) 3/13 (D) 4/13

The area of a rectangular plot is 768 m?. If
the breadth of the plot is 24 m, then find the
length of the plot?

Teh ATIATRR TS T &l 768 m? ) Fle &S i

=TS 24 W =, A1 LS hl TS F1d hIfS0?
(A)26 m (B) 28 m
(C)36 m (D)32m

If 25*7963 is divisible by 3, then the greatest
possible value of * is?

Tl 25%7963, 3 W fonsa 2, a1 * o1 STfrshaw amrfag
I 7 22

(A1 (B) 7
©9 (D) 2
. What fraction of 5 days is 12 hours?
5 &7 BT foReIT 9T 12 512 % SIS BT 27
(A) 1/5 (B) 1/10
(©) 1/12 (D) 1/60
The sum of 2/5 and 3/8 in the decimal form is
TS §9 F 2/5 31X 3/8 FHT AW &
(A) 0.775 (B) 0.565
(C)0.875 (D) 0.745

The What type of angle is formed at 7:15 pm?

.7:15 St BT 31 AT o sirel R o1 T 10T S

77

(A) Acute angle (I T=|ﬁ17T)
(B) Right angle (H'Hilﬁ'UT)

(C) Obtuse angle (3Tf&reh hrom)
(D) Straight angle (STt 3hI0T)

The difference between the greatest and the
smallest 4-digit numbers formed with the digits
9,3,7 and 1is?
3k 9, 3, 7 A 1 & oA Ferdt w1t SN e B 4

eI ATt o fter T ST T 22
(A)1 (B)C (A) 8342 (B) 8352
©) X (D)L (C) 8362 (D) 8372

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea
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184. The table shows a pictogram representing

the number of students using different modes of

transportation to travel to school.

If students who walk to school start using
bicycles, how many students will then be
cycling?

&1 AT qrforeRt # weh U fewm T @ S ke
aﬁ%%@%%ﬁﬁnmﬁmsﬁnmﬁmﬁ
BT ShT T i T 2

fe Yeet TheT ST aiTel BT BT (ohet T ST AT &
F 2, T fora BT \Tiehet TraTa?

Modes of travelling | Taenfeiai < dwar = 1 Student
FTAT SHT ATETH No. of students (feremefi)

Private car (Fsft &R)
Public bus (1% ) 2
smootbsem) | RERBERRERE R
Cycle (AT3FReT)
vt | BERRERRE

(A)8 (B) 10

O 11 (D) 16

185. In the figure given below, the angle ABC is
known as?

it &Y 775 ST I H, 10T ABC i fohe 7 & ST STl
87

C

B > A

(A) Acute Angle (I W)
(B) Obtuse Angle (iﬂﬁﬁ? ‘OIﬁUT)
(C) Reflex Angle (Slﬁa?ﬁ E}ﬁﬂT)
(D) Right Angle (SHahIUT)

186.  Varun bought 5 chairs for ¥3000 and sold 4
chairs for £2960. Find his total profit or loss on
chairs he sold?

T A 3000 H 5 FHiEAT WSl 3R 4 FRAT 2960 §
sl 36 sl T8 BT O et HHATHT AT JHET w0
foram?

(A)Z 140
(C)T296

(B) %560
(D) ¥ 740

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

187. A What time is 3 h 40 min before 2:30 pm?
YL 2:30 o9 | 3 T 40 e Taet =61 T T
(A) 11:00 am (&) (B) 10:50 am (FaTET)
(C) 11:30 am (&) (D) 11:55 am (Tte)

188.  Find the area of shaded region in the given

figure:

31 g3 AT H STATTohd T T & JTd hITST:

16 cm

“ & cun 14 cm
5cm
(A) 224 cm? (B) 104 cm?
(C) 120 cm? (D) 30 cm?

189. Estimate the product of 386 and 247 by
rounding off each number to the nearest ten?

STk EEAT R F-oheH S8TS Aok qUTTTohdl 3hteh 386 3T
247 =1 UH%S 1 shisT)
(A) 96500
(C) 97500

(B) 97000
(D) 98000

190. A milkman has 48 liters of milk. 5/8 of it was
taken by a family. 3 liters of milk was taken by
another family. What quantity of milk was
added to make the remaining milk 20 liters?

Ush qUETel o T 48 et 39 &) g6k 5/8 Tewan
w&wﬁé%wsaﬁzrwaahrﬁwﬁﬁ%mmﬂ
waﬁzosﬁamﬁ%mﬁmﬁwﬁwﬁw
™

(A)7L (B)SL
(©O)3L (D)6 L
191. The sum of the first five multiple of 6 is?
6 3 ST Yif= TUTSHT ohT AT T &2
(A) 80 (B) 84
(©) 90 (D) 96

(49176108 79108
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192.
24?
53.016 bl 24 8 faariSTa e 0 YRR F1d hifste?

(A)2.29 (B) 2.209
(C) 2.292 (D) 2.029

Find the quotient when 53.016 is divided by

193. The difference between the place values of
the two 7’s in the number 17372 is?
TEAT 17372 | &1 7 o TIR WY o st ahT SFaL =T

.

(A) 990 (B) 6993
(C) 6930 (D) 7070
194. Natasha bought a scooter whose price was

%68000. She also bought a cover for her scooter
for ¥2600. But due to any reason, she lost her
cover and sold her scooter for ¥64500. Find her
Loss?

AT = Tk Thet ErdiaT foresht shidd T 68000 offl 38
mwgt%%quéoo T sk e o Elan S
Toref SHTCOTarRT IH STOAT ol Wl folT 37 370 Tohek
T 64500 H o= TAT| IEHT ToHHT ToherT EAT?

(A)Z 6100 (B)Z 70600
(©)T 2600 (D)% 6200
195. The difference between the place value and

the face value of 6 in the number 46831 is?

TAT 46831 T 6 o LA A 3T Siferd g & sfi=r

T T T 22
(A) 6000 (B) 1000
(C) 6825 (D) 5994
196.  Simplify (8 HIR):
(700 + 10) - {(12 x 8) + (34 -10)} =?
(A) 69 (B) 68
(©) 67 (D) 66
197.  The perimeter of a square is 226 cm, then the

length of its each side is?

T ol kT GRATT 226 Tt 8, T $6eh! Tcdsh 9SIT ol
SEIECRIEY
(A) 54.5 cm
(C)56.5cm

(B) 55.5cm
(D) 57.5 cm

qdled, RMS, AfRa5, RIMC, CHS & 3iTHaTeA

198. If 763*642 is divisible by 11, then possible
value of * is?

Ife 763%642, 11 U favrsa &, a1 * o GvTfera 91 T
27

(A)8 B)7
(C) 4 (D)1
199. What number should be added to 5% to get
122
5% 1 Y HET St S foR T 12 8 S
3 5
A) 8— B) 6-
(A) 2 (B) 3
1 3
C) 9— D) 8—
© 2 (D) 3
200. When 6.25 is written in the simplest

fractional form, the difference between the
numerator and the denominator is?

ST 6.25 ! GlAqH f=reqes &9 | for@n S g, ar

J7IT ST BT o ol T ST AT R?
(A) 96 (B) 21
(©)25 (D) 15

201. An angle measure 3/4 of 60°. What is its

complementary angle?

TS ShIT 60° 3T 3/4 8| FHhT T hI0T 1 &
(A) 30° (B) 60°
(C) 45° (D) 20°
202.  Simplify (S HITSR):
15 X225 +15+3 X 7-112 + 16 =?
(A)229 (B) 239
(C) 249 (D) 259
203. There are only symbols in the Roman
numerals? .
A 37T H Sharet STefteh 21 82
(A)9 (B)6
©7 (D)8
204. A child has a fever of 39.5°C. What is the

fever in Fahrenheit? ]
T el 1 39.5°C @R 8l BRARIEE H @ &1

BT
(A) 100.1°F
(C) 103.7°F

(B) 102.4°F
(D) 103.1°F
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205.

206.

207.

The table shows the number of watches sold
each day of the week from Monday to Saturday.
On which day were the most watches sold, and
how many more were sold on that day compared
to Saturday?

Arfetent § HIHAR & TIHER T THTE o Scieh fod ol
TS =feal it we qwg 0 2 e foT wed sifi
Hfeat foreht SR AT shl JoiT # 34 T fohat =it
3feren forent

= (Day) FATgRer i e @ = 100 Watvihe*s

(Nilmber of watches)

TSR (Monday) @ @ @ @ @ @

HITASH (Tuesday) @ @ @ @ @ @ @ @

TUGR (Wednesday) @ @ @ @ @ @ @

TEAR (Thursday) (oYoXoRoNoNoXoNoXo,

AT (Friday) [0JoXoJoXO)!

mﬁaﬂ'(Saturday) @ @ @ @

(A) Wednesday, 300 more watches
(FHET, 300 3Hfereh =)

(B) Tuesday, 400 more watches
(WA, 400 31feres wrfea)

(C) Friday, 200 more watches
(THAR, 200 SAfereh =)

(D) Thursday, 500 more watches
(TTEaTR, 500 372k Tfga)

In the figure given below, find the value of x.
= 9 7S HATRI |, x T T TG IS
D

C

(A) 54° (B) 72°
(C)36° (D) 18°
Which of the following two-digit number

when added to 27 gets reversed?

feferitaa & & i € 2 Sishi gear 27 # Sied 1
SIS ST 82

(A) 27 (B) 24

(C) 47 (D) 70

208. Deepak bought 200 fans for ¥1500 each. He
paid 22500 as rent of shop, 500 to helper, and 12
fans were damaged before selling and he sold
remaining fans for ¥1650 each. Find his total
profit or loss?

&eh 200 W 1500 S ol sh T 8 Tl 38 g
T TR 22500, 9T 3T £500 feam, e 12 9 =
T Ugd T &I T, qAT U I U %1650 el 0 st
T S| 3EHT FHA AT AT T 1 hITSTT?

(A)Z 6100 Profit (@)  (B) ¥ 7200 Loss (1)
(C)T 6100 Loss (FTH) (D)% 7200 Profit ()

209. Find the area of shaded region in the given

figure:
21 g8 HATHId H SRR YT T & J1d hITS:
18 cm
6 cm
7 cm 15 cm
7 cm
6 cm

(A) 42 cm? (B) 84 cm?
(C) 168 cm? (D) 126 cm?

210. On dividing 16.438 by 0.025, what is the
approximate answer?
16.438 1 0.025 ¥ TorTiSTe s ox SFgATia 3t =/

27
(A) 656 (B) 657
(C) 658 (D) 659

211.  Ravi got 15 marks less than Kavita. If Abdul
got 10 marks more than Kavita, then tell how
many marks did Ravi get when the sum of all
three marks is 100?

Tfer ol 2hierel § 15 3o fed] e STsqet i shisrdT
T 10 3k 3Tferen firet,  sraree fon Ste 41 37ent w1 AT

100 ®, qT Tfer =T fora 37k firet?
(A) 25 (B) 35
(C) 45 (D) 20

Tdiqd, RMS, 93, RIMC, CHS &1 iFarET +91 76108 79108
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212. A number which is a multiple of 5, is less 218.

than 50 and has exactly three factors, the number
is?

T HEAT S 5 1 U €, 50 & o & quT e 3t
I UGS €, o8 HET Rl 22

(A) 45 B)9

(©) 25 (D) 35

213.  Find the sum of the largest and the smallest 2

numbers which can be formed by 5, 0, 7 and 4?

5,0, 7 3 4 ¥ T ITclt GeF a<t 3 T BT

GEATSAT T AT J1d SIS
(A) 11487 (B) 11797
(C) 11687 (D) 11597

214. A shopkeeper sold 4 almirahs for 3600 each.
He spent 1250 on wood, 850 on Fevicol, 3600
on labour, and ¥250 on transportation. If he sold
all 4 almirahs for #3800 each, find his profit or
loss.

U HMER A 4 STTHIRET 23600 Sf S sl
U ARG W 1250, Hidhlel W 7850, HSGH T
#3600 3T uftged W 2250 @ fu) afe sa= axft 4
SATHTIET 3800 Tl AW SI=fi, o 3Tt &1y AT

HIEFICEISI
(A)Z 8450 Loss (81M)  (B)¥ 5150 Loss (21M)
(C) ¥ 5150 Profit (@) (D) % 8450 Profit (ITH)

215.  Add the difference and the sum of the largest
and the smallest 6-digit number?

T ST T T8 DI 6 SHhT AT hT 37T ST AT
(A) 1998888
(C) 1999998

(B) 1999888
(D) 1999999

216.  Simplify (&<T FHifoR):
555 X 55 X 5 + 55 + 5 =?
(A) 111
(C) 55

(B) 11
(D) 555

217.  The perimeter of a square is 563 cm, then the
length of its each side is?

Teh o1l 1 qiATd 563 €t &, 1 g6hl Scdeh Sl hl
SEIECRIEY

(A) 136.25 cm
(C) 138.25 cm

(B) 140.75 cm
(D) 142.75 cm

qdled, RMS, AfRa5, RIMC, CHS & 3iTHaTeA

220.

If 9658072 is divisible by 11, then possible
value of * is?

Tf 9658*072, 11 & forars= 8, T * =1 Gvera o /=
a?

(A) 6 (B) 8

(©)3 (D)9

What number should be subtracted from 8%
2
toget 5—7
B3

8% T 9§ I © G152 ST foh 5% T BI?

1 1
1 1
(© 6 (D) 3

The fraction equivalent to 1.25 is?
1.25 3 Goged T 7 82

1

1
()15 (B) 125

1 1
© 1 (D) 127

221. The following bar graph shows the number

of lectures given by six different professors in
one day.
Which two professors gave total 10 lectures?

Fr=fefad sr um v o7 0 98 Ae-3TenT IrheRl
g1 fou U ST i Hean widr 2
8 A AL | Fe 10 eI fu?

6

wn

7

EN
}

L
_ B

Amit Gopal Ram Pramod Vishal Raghav

(fa) (maren @) (R) (e @EE)

Professor (SATEATAT)
(A) Amit and Pramod (3foa 3R Eltﬁ'q')

(B) Gopal and Vishal (TTet 371 fargme)
(C) Amit and Ram (31fd 3R )
(D) None of the above (feit 3T T2

w
Il

[SS]

Lecture in one day
(U T § =)

—

-

N

0

(=]

(49176108 79108

PIfT & fore 3nft dra B3



https://app.allrounderbss.com

222.  Inthe figure given below, find the value of x,

y and z.

qﬁ%aﬁémﬁrﬁ X, yﬁ?z%‘fﬂﬂﬂﬁaﬁﬁql

140° x

(A) 40°,140°,140°
(C) 140°,40°,140°

(B) 140°,140°,140°
(D) 40°,140°,40°

223.  Chetan bought 10 chairs for ¥ 135 each and
spent 50 on transportation. To make a profit of
%100 on each chair, find the selling price of a
single chair.

S A E 135 1 10 FHiEar e 3 50 aiEs
@ o) Sedsh T 9T 100 3 AT M o (g,
Tk et Y forsht o 7 B =R
(A)Z 340 (B) % 200
(C) T 240 (D) %260

224.  Write 15 minutes as a fraction of 1 hour.

15 e &l 1 5 o &9 # i & =0 1 fog)
(A) 12 (B) 1/4
(C) 3/4 (D) 1

225.  What is the angle between the clock hands
at 6 pm?

6ﬁwﬁm%aﬁaaﬁrwm%“)
(A) 90° (B) 45°
(C) 180° (D) 270°

226.  Simplify (S ShITSR):
15 x 108 + 9-{80 + 16 + (18 + 6 X 5-6) =?
(A) 156 (B) 176
(C) 163 (D) 166

227. A number is divided into two parts such that
their sum is 246. One part is twice the other. Find

the smaller part?
o e 81 e g s v e 2 R

ST AN 246 T Tsh T GHL AT 6T &NHAT 8 BT Wi
STl shifeTe?
(A) 78
(C) 86

(B) 82
(D) 92

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

228.  Find the area of shaded region in the given
figure:
& a‘s‘ STTRTA | BTATTohd T T &S 1T o
25 ¢cm
12 cm 25 em
12 cm :
(A) 841 cm? (B) 148 cm?
(C) 625 cm? (D) 481 cm?
229. Calculate the value of

(635+897+468-721-120) to its nearest hundred?
(635+897+468—721-120) T U fHehead e dh

EIGEIS LY

(A) 1100 (B) 1000
(C) 1300 (D) 1200
230. 1/5 of a vessel is filled with water, if 40 liter

more water is needed to fill it completely, what
is the capacity of the water?

TS (i 3T 1/5 AT 9T & 900 €, AT 58 g Wi o forg
40 12T ATGIR qTt T STTerwehar &, al aTt s &7aaT
FATE?

(A)40L (B)45L
(C)50L (D) 60 L
231.  Find the first four common multiples of 5, 2

and 3?

5,2 31X 3 o Y| = HTel 0TS 1 ShiTST0?

(A) 10, 20, 30, 40 (B) 15, 30, 45, 60
(C) 30, 60, 90, 120 (D) 40, 80, 120, 160

232.  The smallest 3-digit prime number is?

el B 3 I TS T i €Y 82
(A) 103 (B) 107
(©) 111 (D) 101
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233. Form the greatest 6-digit numeral by 239. Write How many seconds are there in 24

repeating any two digits from 7, 9, 5 and 4? hours?

7,9, 5 3T 4 T & eheel &1 3ieh] 1 AGUHT 6 SIHT R 24 52 Py s B 2

o ST TEAT T2 (A) 30 sec (B) 60 sec
(A) 977554 (B) 997554 (C) 3600 sec (D) 86400 sec
(C) 997754 (D) 975544

240. The smallest fraction which should be added
234.  Rahul bought 144 bananas for 120. He

3
spent ¥12 on transportation and then sold all to the sum of 56 and 2§ to make the result a

the bananas at a loss of ¥18. Find the selling s aile e
price of the bananas. 5 3
TEeT A 2120 7 144 et @ 38 €12 TREed W 8 we B e & 8 o 553ﬁf 22 ERu
T T ST T wvfl et %18 o T TSIl et i St o o ot e o S
bt forshr Teer ok oft? (A) 5/24 (B) 13/24
(A)X114 (B) 2214 (C) 17/24 (D) 19/24
(C)%112 (D)Z118
241. The difference between 0.6 and 0.44 in the
235.  The sum of the greatest 5-digit number and fractional form in its lowest terms is?
the smallest 5-digit number formed by using the Fy=ITeTes T T 0.6 377 0.44 é;aﬁ%r::gm A RTE?
digits 6, 2, 0, 5 and 4 is? A)4/25 B) 7/25
3 6, 2, 0, 5@?4%‘[3@%*{%%&@&%&@ EC;3/25 ED;9/25
5 3ehi oht BT 3T ol BILT 5 3iehi shl AT T
3T T 27 242. A toy store recorded its daily toy sales for a
(A) 85876 (B) 85846 week. The table above shows the number of toys
(C) 86876 (D) 85676 sold each day, represented by teddy bear icons.

If each toy was sold for ¥100, how much money
was earned on Thursday?

236. Si“_‘Plify (BT H): ) e e o g 7 T T ¥ o et 2
6i+;ZT2_6 of 7+3%2 ¢ 53 Tttt s forsh gt shY| SR df 7€ Tferent § ek fo
*) ®) o< T RaiiA 3h! €T shi ST TR 318 g1 STt
(C) 38 (D) 34

TR
. . ) IS Jereh Raet=T 100 H ST 7T, T e i oAt

237.  The perimeter of a rectangle is 98.2 cm. If its e >
length is 32.8 cm, then find its breadth? BT
Teh 3T T TS 98.2 Tt 81 IS 3HehT wialTs 32.8 Day () | Ngobsldions o & =20 Toys et
el 2, i1 gershi =SS Hd shifea? Monday @m0y | & & &

(A) 14.7 cm (B) 159 cm Tuesday (FTeraT)
(C)16.3 cm (D) 16.9 cm Wednesday (¥

238. If 643*187 is divisible by 9, then possible T"S1TT
value of * is? Friday (Jham) KR
Ifs 643*187, 9 ¥ forvrsa &, 1 * o1 WTfard | =0 = T o
%‘) Saturday (FAER)

A 9 B 7 (A)ZT 1200 (B)T 600
(A) ®) (C)Z 120 (D) % 12000
©)53 (D)3
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243. In the figure given below, find the value of 249. Find the area of shaded region in the given

8x. figure:
= &t 8 2TTeR(d H, 8x T W 14 hifSTT ﬁéwﬁﬁmﬁmmw%&waﬁaﬁﬁ%
30 cm
4x
2x
(A) 140° (B) 30°
(©) 180° (D) 240°
244. A shopkeeper incurred a loss of ¥120 on (A) 360 cm? (B) 180 cm?
selling a radio for ¥680. At what price should this (C) 36 cm? (D) 18 cm?

radio be sold to gain a profit of ¥1207?
U GohMER 4 2680 H el sFerd gY €120 1 JHAH

250. Estimate the product of 83, 76 and 123 b
foram| 3| e T T120 T TR FAM o6 T fora < Y

rounding off each number to the nearest ten?

I T S=T AMET? 83, 76 HIT 123 T TUHHS Tiesh HE&AT i ek
(A)Z 720 (B) T 800 TETS T UTTohd ahleh STTATIA ShiTeTg)
(C)Z 820 (D) £ 920 (A) 768500 (B) 769000
(C) 768000 (D) 769500
245.  An Which of the following pairs of angles
are supplementary? g . . s
e gt O s et i
(A) 46° and 44° (B) 113° and 67° capacity of the drum?
(C) 245° and 115° (D) 90° and 180° Tk GH AT 1/5 T G H T 9 AL o7 o e 28
T Tt 37 ger T AT 2, 1 GH sh Tt T
246.  Simplify (8 F): &?
96+12X8—[54—{2+3(45+9-5)}] =2 (A)30L (B)32L
(A)8 (B) 12 (C)35L (D) 140 L
(©) 16 (D) 20

252.  The smallest 4-digit prime number is?
247.  Find the sum of two numbers if one number 4 Fih! ol FaTE DI STHTST AT HiF H 22

is 41628 and the other number is 1235 greater (A) 1001 (B) 1003
than the first number? O) 1009 D) 1013
1 HEATSAT T ART J14 HISTC (S Th H&AT 41628 © © ®
T B} T TRt HEAT § 1235 At 87
& 253. The sum of the greatest 5-digit number and
(A) 84491 (B) 82817 the smallest 6-digit number is?
(C) 86513 (D) 83891 5 3ol 1 T TSt AT IR 6 i I ToH DI
AT T AN T &2
248. How many natural numbers up to 100 are (A) 999999 (B) 109999
there which are multiples of both 3 and 47 C) 199999 D) 1999999
100 o TohaT STeRfaeh TEame € ST 3 37K 4 SHT Y © ®)
TUTST &7 ’
T 7% . 254, Simplify (51 FY):
(A) (B) 24+{8X7—(36+9x5)}=?
©)9 (D) 12 (A) 56 (B) 60

(C) 64 (D) 72
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255. A shopkeeper bought 15 tables at 500 each
and 20 chairs at 300 each. He spent %40 on
transportation. Finally, he sold each table and
chair for 380 each. Find his profit or loss.

Teh GhER 4 2500 | 15 2ot 32300 H 20 HiEar
Tl 38 40 TiasT W EE fohu) 37 |, 39 TAh
o 3T FHHT £380 H S| IEehT HATHT AT THE HIT
r1?

(A) 2240 Loss (81F)
(C) %250 Loss (&11)

(B) 2240 Profit (7T+)
(D) %250 Profit (S1T+)

256. The difference between the greatest 6-digit
number and the smallest 4-digit number is?

6 37ehi Shl Hel TSt GEAT 3 4 37ehi I God BT

AT o o1 T AT FAT 2?
(A) 999000 (B) 998999
(C) 989999 (D) 998888

257.  Find the area of the rectangle of length 24 cm
and breadth 17 cm?

24 GHT T 3R 17 9 S1STE aTet STTId T ST
1 hifsY

(A) 404 cm?
(C) 412 cm?

(B) 408 cm?
(D) 416 cm?

258. The difference between the successor and
the predecessor of 59439 is?
59439 o IANTRHRT ST ead] o sitel ST T 2

(A)2 B)0
©1 (D)3

259. The number that should be added to the

difference of 4% and 2% to get 8 is?

4% 3 2% Y i 3 A1 s A T S e

The reciprocal of 3% in the decimal form
is?
SR &9 | 3% T HcHH T &7
(A)0.225
(©)0.275

(B) 0.325
(D) 0.375

In the bar graph, the number of vehicles
parked in different time interval are given, find
how many vehicles are parked in between 7 to 10
am?

ST IT H STEHT-SATHT FH STt H Teh o6 7T ATt
T {1 € TS ©, G 7 W 10 S % it fepa ared

ek foRT 1T 57

1200
I 1100
1000
= 900
z S 800
2 x 700
S = 600
Z E 500
S B 400
2 300
E 200
z. 100 1
o T
67 7-8 89 9-10 10-1111-12
Time intervals (THT 3@T{TeT)
(A) 340000 (B) 310000
(C) 280000 (D) 360000

Find the value of ‘a’ in the given figure?

T ST “a’ T T A IS

120°

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

ERIRY b .
3 3 (A) 80° (B) 70°
(A) BZ (B) 4Z (C) 60° (D) 90°
© 5 ©) 57
4 4 Two angles of a triangle are 90° and 30°.
Find the third angle. ‘
T Pt o &1 10T 90° ST 30° 8 e ivr I1d
£l
(A) 30° (B) 60°
(C) 50° (D) 80°
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264. A shopkeeper bought two dozen brushes at 269. Round up the number 73856 up to hundred?
%10 per brush. If he sold each brush for 1, find &A1 73856 ﬁwq\mfﬁ»—cra%?

his loss on 5 brushes. A) 73860 B) 73800
Ush GohMER A £10 I 5197 <ht 5T ¥ 31 it shT Sl 1 (

y . C) 73900 D) 773850
IS 3T T SI9T <l T1 T ST, T 5 ST UL ST 1T ) &
@ ! 270. In a school out of 200 students, 3 out of 5
(A)T45 (B) 75 students like to play cricket, how many students
(C)T65 (D) %95 do not like to play this game? _
T Td # 200 et 5 & 5 # @ 3 fommeff fhere
265. 7/6 of aleap year is equal to how many Ci ”.WW%’ ot fererreff o1 Wt wer e e
weeks? . Fd 82
@aﬁqaﬁ%wﬁsauai fohdl |HTE BId 82 (A) 60 (B) 80
(A) 427 (B) 35 (C) 100 (D) 120
(©) 61 (D) 13
271.  Which of the following number is not a
266.  Simplify (F¢1 FIfT): factor of 224?
24+[2425+ {2424+ (2+2%3)}] = ? Freferfa i & I o TG 224 F1 IEE T 27
G (B)4 (A) 16 (B) 14
©7 (D)9 (€) 28 (D) 26

267. The product of two number is 1296. If one
number is 16 times the other, then find the
smaller number?

272. The difference between the greatest 6-digit
number and the smallest 6-digit number formed

. . . by using the digit 4, 1,0, 8, 6 and 7 is?
ﬁa@%ﬁw%z%%mﬁwm@ﬁ 3F 4, 1, 0, 8, 6 3T 7 T IUANT ek TS T3 T
T 16 Te, BT T 6~ TEAT 3T T8 B 6-31HR T o off =
(A) 12 (B) 16 T F AT 22
€)4 (D) (A) 771732 (B) 761732

268. Find the area of shaded region in the given &) 7 D) Hlee

figure:
ﬁg@ ST H BTHiTehd ST AT &% JTd shitoTd 273. The number which has more than two factor

sem . is called a? ]
i o T T STk &1 & Sfreh U €, Feerdt 27
(A) Twin prime (Trlo?ﬁﬁ YY)
(B) Prime number (3TTST &E&A)
(C) Composite number (HTSI H&AT)
(D) Co-prime number (FgHST &)

274. A fruit seller bought 60 oranges at the rate of
%10 for 12 oranges. He sold them at the rate of
D c Z12 for 10 oranges. Find his profit or loss.

e T e fershal 210 T 12 TR G| ST S 212 |
10 €L o Te@Ter & S| SHeRT HATHT AT THET 1 12
(A) 222 Profit (TT¥)

(B) £22 Loss (2T)

(C) No profit and No loss (T €T T gT)

(D) 22 Profit (<1TH)

(A) 450 m? (B) 432 m?
(C) 270 m? (D) 180 m?
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275. The smallest 6-digit number that can be
formed by using the digit 7, 0, 5 and 6, if each
digit is used at least once, is?

3h 7, 0, 5 3T 6 T STANT ek TS ST bl ITAT
e BT 6-3fhIT TEAT AT &, IS T 3ieh 1 A

H W Teh ST SYANT fohaT STTaT 82
(A) 000567 (B) 555067
(C) 500067 (D) 550067
276.  Simplify (EF[EI%) 6— - 2§ —1E =
10 4 5
3 &
A) 2— B) 2—
(A) 20 (B) 10
7 7
C) 4— D) 3—
© 20 (D) 10
277.  Find the perimeter of the square side 36 cm?
36 T $[SIT ATt 3T ST TIETT T shifeTg)
(A) 72 cm (B) 124 cm
(C) 132 cm (D) 144 cm
278.  The successor of 99999 is?
99999 T IS HI &7
(A) 99998 (B) 10000
(C) 100000 (D) 100001
279.  What fraction of 15 kg is 350 gm?
15 Tora o1 o1 &1 91T 350 T 22
(A) 7/150 (B) 9/250
(C) 7/300 (D) 11/350

280. Find the sum of 1§ and 21 ?
5 10

12 3 2% 1 AT T R

(A)4.4 (B)4.3
(©)4.1 (D)4.2
281. A train leaves Hyderabad at 01:15 pm on

Friday and reaches Chennai at 07:30 am on
Saturday. What is the duration of the jo é urney’?

Teh ¢ YA i QIR 1:15 ST 8aUaTe
ﬁtmﬁaﬂgam.soaé%méqgﬁ%lwﬁmﬁ
FAT?

(A) 18 h 30 min
(C) 18 h 15 min

(B) 17 h 45 min
(D) 17 h 15 min

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

282. In the given graph, shows the number of
shoes sold by the vendors from Monday to
Saturday, if he has 300 shoes in beginning then
find the number of shoes left after Saturday.

faw T 7T , WHER & WA 9 forshdT g
ST T EE s T 2, A 3Eeh I YA 7 300
Sdl & Q1 SR 6 ST R ! ST 3! AT 1 HITSY

Day (&) R e =10 Shoes (T
Monday (@) | & R R R
Tuesday (WTeTam) | (2, 2 B,
Wednesday (T | 2, 2, R 2, 2,
Thursday (T6aR) | &, 2,
Friday OFFaT) | R, R B B R
Saturday (AR | 2, 2, 2
(A) 90 (B) 100
©)8 (D) 80

283.  Find the value of X’ in the given figure?
& 7T SR H X T T AT ]2

B C

(A) 60°
(C) 49°

(B) 59°
(D) 70°

284. Pradeep bought 2 dozen oranges at the rate
of ¥24 per dozen. By selling each orange at
¥2.50, find his profit or loss.

AT 7 £24 T & sl T H 2 g Tl i Afe
36 A Gd Rl 2,50 H ST, A SHRT TATHT AT

JohET T 91?2
(A) %12 Loss (811) (B) 20 Profit (ATH)
(C) 12 Profit (1) (D) 20 Loss (&)

285. Whatis the complementary angle of 40°?
40° ST 9T IV T 87
(A) 140° (B) 80°
(C)90° (D) 50°
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. A}

286.  Simplify (I shIfSr): 1— 2&=a i
(A)1 (B) 2
©3 (D) 4
287. What should be added to 28910 so that the

sum may became 47909?

28910 T T SITST ST fsh ANT 47909 BT T2

(A) 17899 (B) 18699

(C) 18899 (D) 18999
288.  Find the area of shaded region in the given

figure: ]

&1 g3 3TN H BT VT 3hT &1t 1A ehiTST?

3cm
-
3 cm
3 cm
e
3cm
-
3 cm
3 cm
-
3cm 3cm

(A) 62 cm? (B) 63 cm?

(C) 65 cm? (D) 60 cm?
289. Round off the number 239763 up to the

nearest thousand? )

HEAT 239763 T (ehedw SR qoh qUITTeh Hi?

(A) 239000 (B) 239500

(C) 240000 (D) 239800
290. In one exam, Karan scored 10 marks more

than Bhawna. Isha scored 5 marks less than
Bhavna. If the total score of the three is 170, what
are the marks of Isha?

Teh GO §, 0T 5 9TEET | 10 3ok 3Tfreh T fohu)
ST AT § 5 375 W W [T AT A1 6 Fel 37k
170 &, 1 ST o 3ieh a7 82
(A) 65
(C) 50

(B) 55
(D) 45

291. Total number of factors of 60 is?
60 3 UGS sh1 et HEAT T 22
(A) 10 (B) 12
(©) 14 (D) 16

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

292. The difference between the place values of 7
and 8 in the number 473806 is?
HEAT 473806 H 7 1T § o T W o sl ST T

87

(A) 1 (B) 70200
(C) 69020 (D) 69200
293. The number which has only two factor is

called a? ]
g GAT fotees 2 TES B, el 27

(A) Twin prime (S[gal 3HTSH)

(B) Prime number (ST &)

(C) Composite number (HTS3 HE&AT)
(D) Co prime number (H83THISI HE&AT)

294. A man bought 20 pencils at ¥24 per dozen.
He sold the pencils at ¥2.20 per pencil. Find his
profit.

Teh JTEHT A 224 T goie shl &0 | 20 UTeer Tiei| 3e=
Ufeet st £2.20 S GReT 7 s 3Eeht AT TR
o9

(A)Z4 (B)Z10
(©)%14 (D)8
295. The sum of the face values of 3 and 8 in the

number 63489.1 is? ]
HEAT 634891 T 3 3 8 o Ifohd AT hT I AT 22

(A) 11 (B) 30800
©)5s (D) 110
296.  Simplify (T ):
10—21><3+3§+21 =
3 4 2
1 3
A)2— B) 3—
(A) > (B) >
2 1
C) 3= D) 4=
©) 33 (D) 45
297.  Find the perimeter of a rectangle of length 12

cm and breadth 8 cm?

12 Bt SAaTE 37 8 Tt =NSTS ATed Teh ST b7 TRATT
RIGEAISIY
(A)40 cm
(C) 96 cm

(B) 20 cm
(D) 80 cm
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298. If ‘a’ is the successor of ‘b’, then the value of
(b—a)is?
IfE “a’, ‘b’ T IAUTIHN &, AT (b — a) T A FAT 82
(A) -1 B) 1
©0 (D)2
T, ) X
299. If 3 is equivalent to 75 then the value of x
is?
Pl g 7—X2 % SRS B, T x T 0T 4T =7
(A) 36 (B) 48
(C) 56 (D) 64
300. Convert 0.84 into the fractions in the lowest
form? ] . .
0.84 3T =[FH &9 H T=T1 7 ftarfdd L2
(A) 84/100 (B) 42/50
(C) 21/25 (D) 7/24
301. In the given bar graph, shown that

Population of India in different years.
In which year the population increased by 14
crores.

fou e o 7Tk o farfir=T At | Y Y SIHEET g9g

TS 2| fore o e # 14w A Il T
2 110 - 102
g 100 L
Ep 90 L
.E% 80 +
=g 704
ER OO0+
= 50 1

40 +
%4@ 30 L
= 20 L
ZE 0T
=% 0
1951 1961 1971 1981 1991 2001
Years(aﬁ)
(A) 1961 (B) 1981
(C) 2001 (D) 1971

302. A shopkeeper bought 50 kg of apples for

%2000 and sold them for ¥45 per kg. How much

profit did he make? ]
T THMER F 22000 § 50 foraimm & @i A 3%

45 Wil foreirm H s 36 foha=T qATHT HHmRIT?
(A) 2250 (B) 2225
(C) T400 (D) T300

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

303. Find the value of "Y’ in the given figure if 4X
=5Y.

&t S STeR(a § AR 4X = 5Y §, @ Y’ 1 AE I
ey

4X = 5Y
Y X
< >
(A) 90° (B) 72°
(C) 36° (D) 80°
. 2
304. Simplify: c of [2+{3+(12+4+3)}]

% I [2+{3+(12+4+3)}] T & HIf:

2 N N3 2
W7z B89 (D) 9=

305. How much is subtracted from 21049, so that
it will remain 9263?

21049 ¥ ¥ ford=T S12rIT ST T Y 9263 T S?

(A) 11648 (B) 11786
(C) 12128 (D) 12484
306. A fruit vendor purchases 50 apples at a cost

of ¥30 per apple. During transport, 5 apples go
bad and cannot be sold. If the vendor sells the
remaining apples at 40 each, find the overall
profit or loss.

Teh %l folshal T30 Ui 8 sl & H 50 I GledT g
IiEe & R 5 A TS & Sd 8 3TN 3= s Tal
ST HehdTl Afe forshar I Gl 1 740 Sfd g A T H

EECIEANE NSRRI ERIGEIIS I
(A)Z300 Profit (@)  (B)Z300 Loss (&TH)
(C) T500 Profit (1) (D) %500 Loss (2TF)

307. 5045 grams is equal to:

5045 o=

(A) 50 kg 45 gm (B) 5kg 45 gm

(C) 5 kg 450 gm (D) 50 kg 450 gm
308. What is the supplementary angle of 55°?

55° 3T AP HI0T T &7

(A) 135° (B) 45°

(C) 125° (D) 115°

All Rounder BSS
7 install
@ 4.9 % 500k downloads

aﬂﬁw%ﬁvwﬁmaﬁ

(49176108 79108


https://app.allrounderbss.com

309.

310.

311.

312.

313.

figure:
21 g3 AT H STTTohd YT T & J1d TS

12 cm

§em

(A) 36 cm?
(C) 24 cm?

(B) 60 cm?
(D) 84 cm?

The approximate value of 437.86Xx7.009 is?
437.86>7.009 FT SFTIATH HH T &2

(A) 3050 (B) 3060
(C) 3070 (D) 3080
A milk can is filled completely by pouring 48

liters of milk. It is 7/12 full. If half of the milk is
taken out, how much more milk can be added to
make it full?

U g8 o fgsel U 48 et gor STeteht 38 T W STl

21 € 7/12 W 3T 21 Ffe e gor fenred fear s,
S8 QU W ok o fehef11 g S foredra ST aehelt 2
(A)14L (B)28 L

(C€)34L (D)40 L

Which of the following statements is not
correct?
fferiaa o & 9 91 e a8t 76l 82
(A) 0 is a multiple of every natural number
(0 ST JTeHftreh T T VIS )
(B) 1 is a factor of every natural number
(1 9= Hla_oi?loh G hl Teh guw@is %’)
(C) 2 is the only even number which is prime
(2 THATA T T § ST TS ©)

(D) 13 is the smallest 2 digit prime number
(13 T BT 2 T AT HE&AT ?)

The greatest 6-digit odd number that can be
formed by using the digits 7,0, 1, 3, 4 and 5 is?
3FF 7,0, 1, 3, 4 3T 5 T ITANT FHleh TS ST Hehel

Tt Tl €T 6-37h 1 forem wwa i €t 22
(A) 543107 (B) 754301
(C) 754310 (D) 754103

Il Rounder B
O % 500k downloads

Find the area of shaded region in the given 314.

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

Out of first 200 natural number, how many
numbers are there which are multiples of both 3
and 5?

T 200 STehiceh TS H & fehat weamd UEt € 5

3 3R 5 3T Al I 82
(A) 12 (B) 15
(C) 18 (D) 13
Simplify (81 h):
1_{; 1+1+(§_1)}=7
2 3 6 4 3
(A)30/37 (B) 15/31
(C) 27/31 (D) 1

The sum of the place values of 2, 4 and 7 in
the number 3207438 is? ]
HEAT 3207438 H 2, 4 S 7 6 T HHI 61 0T

FAT Y
(A) 13
(C) 207004

(B) 207040
(D) 207400

What is the perimeter of a rectangle of length
16.4 cm and breadth 10.8 cm?

16.4 Gt TS AR 10.8 T =STE ATt Ueh AT
Ry T 82
(A) 52.8 cm
(C)54.8 cm

(B)52.4 cm
(D) 54.4 cm

If the successor of a is b and b is the
predecessor of ¢, then the value of (a—c) is?

qﬁawmﬁbéaﬂ'{b, cﬂv‘[‘@ﬁﬁ%ﬁﬁ(a—c)ﬂ
T T 82
(A)0
©2

(B) -2
(D) 1

The smallest fraction which should be
subtracted from the difference of 6% and 4% to

make the result a whole number is?

T2 el w1 fae g 2 ol e% 3ﬁr4é%:ﬂ'arﬁ

ST ST qTfeh THOTH Y07 ST S ST
(A) 12 (B) 1/3
(©) 155 (D) 1/6

Al

aﬂﬁw%ﬁvwﬁmaﬁ
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320. Which one of the following decimals is

equivalent to 9]2'—7 ?

fFrafafaa & 9 a9 91 e 9

(A) 9.68
(C) 9.36

éaw%?

(B) 9.48
(D) 9.84

321. Inthe given pictograph number of Sandwich
sold by the vendors in a week, if he has 150
sandwiches in a beginning then how many
sandwiches left after Sunda

%qw%aé@ﬁwmﬁﬁ%mﬁﬂéagﬁa
o1 T & TS 7, A 6T H 36 e 150 Hefaw §
it 2o o ae fohe Sefora W @2

No. of sold Sandwich = 4 Sandwich
Day (&) 21 Y Hstarm St EEEt & ;

Monday (@1aT) | 22D

Tuesday (HTAER) @@

Wednesday (J99R) | £2 €2 &2 &2 &F

Thursday (T69R) | &2 &S &2 &2

Friday (YshaTY) I I IS IS I

Saturday (IFER) | &2

sunday (Fem) | 9 SS9S99

(A) 112 (B) 38
() 11 (D) 16

322.
x'?

it 1 TS TR H, “x” T T J1 hiteTg?

In the figure given below, find the value of

(A) 150°
(C) 140°

(B) 130°
(D) 170°

Simplify (I IR

frafofor)

(A)8
() 15

323.

(B) 12
(D) 18

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

324. Ravi bought a bicycle for ¥3000. He spent

%500 on repairs and sold it for ¥4200. Find his

profit. .
Tt T T3000 T Uk Grsfohed TR 38 HOHT W E500

T [T 3T 38 %4200 H S| 36T AT FoheT o2
(A)T 600 (B) % 700
(C)T 800 (D)% 500

325. Gopal has collected 36.5 kg rice for an old age
home, Shekhar has collected 45.5 kg rice. If they
require a total of 100 kg of rice, how much more
rice do they need to buy?

T = FETHH o TIT 36.5 ToReTromm amaret gengt foRam
IR TG 7 45.5 fopetiumm =mae sehgr foham| afe 3=
F 100 R =Tae Y STEIHRAT 8, Al 3 3R
IEREICIERRERECIRIRIY
(A) 22 kg
(C) 25 kg

(B) 18 kg
(D) 18.5 kg

326. Find the angle whose measure is twice that
of its supplementary angle.

T ShI0T ST Sh STEehT HTT 38k {FILh IV T AT
2l

(A) 60°

(B) 120°

(C) 30°

(D) None of these (3TH ¥ g a)

327.  Which of the following is equal to 15?
frfoifed & & 1 15 o e 22

(A) 8 + (12-4) (B) (13-3) + 5
(C) (9 —4) + (17-6) (D) (13-7) +(7-2)

328. Estimate the sum of 43876 and 68439 by
rounding off each number to the nearest
hundred?

Scdieh HEAT ! [eheaH Hehe deh qUTiTehd ish 43876

3 68439 T AN J1d hIfSTT?
(A) 112300 (B) 112400
(C) 102300 (D) 112500

329. The sum of the and the

predecessor of 43769 is?

43769 % IR S T T AT T 22
(A) 87438 (B) 89538
(C) 87538 (D) 87548

successor
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find the area of the shaded figure?
STTToRd ST T SARS J1d hITSTT?

35m

7m

13m

6m

28m 18m
22m

11m
(A) 738 m? (B) 157 m?
(C) 581 m? (D) 834 m?

It takes 45 liters of water to fill a tank
completely, 4/9 of it is full, if 2/5 of that tank is
taken out, how much more water should be
added to fill the tank com&letely?

T & 1 Gl @ ¥ W % A 45 e arl i
STARIHAT B &, SHERT 4/9 T T AT 7, IS 36 &
T 2/5 AT HehTe foam ST, a1 o6 o1 O e | WA o

foru feraaT urt 1 e =nfee?
(A)12L (B)20L
(C)33L (D)35L

. Which of the following statements is correct?
freferfaa & & & 91 e w2 82

(A) Every prime number is odd

(SIc3eh ITTST G forww giefl ®)

(B) Every even number is composite

(S T TET WY Bl 8)

(C) The sum of two odd numbers is always even
(31 forww HETeTl T AT Had |9 BT )

(D) The sum of two even number is sometimes odd

(31 T ST oh1 1T et oo giar )

The greatest 6-digit number that can be
formed by using the digits 1, 0, 8 and 4, if each
digit is used at least once?

3h 1, 0, 8 3T 4 T ITANT Tl TS ST el ATAT
o T 6-37h 1 TEIT 1 ], TS Tl b HIHA Y

Y Teh ST ST T STTar 22
(A) 844410 (B) 888410
(C) 841000 (D) 884410

@ 4.9 % 500k downloads '

334. How many numbers are there between 100
and 600 which are multiple of both 2 and 8?
100 37K 600 o sft=r U feheT &eand € it 2 31k 8

3T 31 7T 82
(A) 62 (B) 61
(C) 60 (D) 63

335. A grocer bought 200 kg of flour at ¥25 per kg
and sold it for 30 per kg. What was his total
profit?

T ot ST 3 225 Wfd fehermm st & | 200
foprctomd Ter Eler SR T30 Wi foramm & o=

IR e TATHT T T2
(A) %500 (B) T800
(C) 1000 (D) 1200

336. The difference between the face values of 1
and 9 in the npmber 231497 is? ]
HEAT 231497 T 1 3N 9 & 3iferd AT o i T T

27
(A) 910 (B) 9
)38 (D) 1090

337.  Simplify (8 )
0.2 [3.5-0.3{2.5+1.3(3.6+1.4)}]
(A)0.12 (B) 0.14
(C)0.16 (D) 0.18

338. The perimeter of a rectangle whose length
and breadth are 32.5 cm and 26.2 cm respectively,

is?
T ARG T IHA, ST Targ 3R =g shAs:
32.5 Tl 31 26.2 AT B, T BIT?
(A) 117.4 cm (B) 113.8 cm
(C) 119.6 cm (D) 115.4 cm
339. If E:2,9=3,£=l , then the value of —
oo d 5 cd
is?
g 8.20_ 3¢ 1580 ormamyy
b 3¢ 'd 5 «cd
(A) 1 (B) 2/5
(C) 5/6 (D) 6/5

RMS, fAas, RIMC, CHS &) 3iTciTeA
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340.

. 22
equivalentto —?
40

frefefaa & @ o 91 symea %4—203 & SR B?

(A) 5.275
(C) 5.575

341.

Which one of the following decimals is

In the given bar graph, Total number of

343.

Anita bought 15 books at 100 each. She sold

each book for ¥120. What is her profit?
AT 15 ToRdTel £100 S foharer i 38 & wliel| 38+

Tk fohaTel 120 T S=ft| SHHT AT AT 82
(A) 250 (B) T300
Eg 2 2 Zz (C) T400 (D) T500

344.

A milkman had 37-liter 475 mL milk. Out of
it, he gave 5-liter 250 mL to one house, 25-liter

student’s admission in different year in a school
are given, find the total number of students took
admission from 2001 to 2003? ]

faQ 7Tq SR 7T H, U T § iy aut § e o
ST BT ShT et EEAT &1 778 &, 2001 & 2003 T Ta=T

180 mL to another house, and 4-liter 350 mL to a
third house. How much milk did he keep for
himself?

Tk qUeTed o UTH 37 Wiet 475 furediefiet g9 on se
5 eteT 250 faeficfiet wen = d, 25 «fieX 180 fuefietiex

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

T TS BT ShY el HEAT T ShIfSTT| T H R 4 et 350 frefefier diet o # fam
S ~ 60 I 310 T forarT g Ta?
== 50 (A)2.695L (B)3.695 L
z = n (C) 1.580 L (D) 4.285 L
-‘E E 30 L 345. What is the complementary angle of 60°?
g 60° T I HI0T T 52
o B 20 - (A) 30° (B) 120°
g % 10 + (C) 300° (D) 90°
3R
4 2000 2001 2002 2003 346.  Simplify (8T IS
Years (%) 49—{31+(21—11j}
(A) 150 (B) 1500 8 3 2 4
(C) 600 (D) 1800 (A) 1/4 (B) 3/5
(©) 1/6 (D) 5/7
342. Find the value of 'x" in the given figure?
A RIES :ﬂTafﬁ[ﬁ “x’ T {9 J1d hifsT) 347. A number when added to sum of 15346 and
S ) 19087 gives 47860. The number is?
T H&AT H 15346 HRX 19087 & AN H Sed W
47860 SITH BIAT 8] 9 HE@AT T &2
(A) 13317 (B) 13427
o) 7x (C) 13417 (D) 13327
5x
348. A trader bought a sewing machine for 25000.
He paid %200 for transportation and sold it for
P R ¥5500. How much profit did he make?
(A) 20° (B) 15° Tsh AR | 5000 H T s gufia @l 3uq T
(C) 36° (D) 18° 200 TfEed W @ fRT 3T 38 25500 H s SO
i;hd"ll ’\'l;'ll“bl hHTIT?
(A)Z300 (B) T400
(C)T500 (D) 600

(49176108 79108
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349. Find the area of the shaded figure? 353. The sum of the greatest 5-digit number and
STATTR 37 Iochﬁ T &AH T ShITSTT? the smallest 5-digit number formed by using the

digits 7,0 and 5 if each digit is used at least once?
37k 7, 0 I 5 T IUANT Fleh TS T3 TTd Tl 5-
FehTT T SR ol BT 5-37h TE&AT T AN T
BT, AfE Tk ek T HH T HH Teh T TN fRaT
3cm TPJT%T?
- (A) 126757 (B) 127657
3 (C) 127757 (D) 126657
4 cm
354. How many numbers are there between 50
and 200 which are multiple of both 2and 72
50 3 200 3 sTer UHT fehdt STy & 1 2 31X 7 ST
OIS &2
(A) 10 (B) 12
12 cm (O) 11 (D) 13
(A) 168 cm? (B) 156 cm? .
(C) 150 e’ (D) 190 cm? 355.is7 The place value of 6 in the number 4638901
HEAT 4638901 H 6 T T HIH T 87
350. Estimate the product of 768 and 53 rounding (A) 6 (B) 60000
off each number to the nearest ten?
768 3T 53 ST UM% T shIFSTT TUT Teieh TEAT i /00 20 SLOUY
frerea 3818 de quitieRd shifeTg] ‘
(A) 38500 (B) 38600 356.  Simplify (81 F):
(C) 38700 (D) 38800 (2—1j+(gx11) .3.55,
e 3 4 7/ 8
351. Ritu has % of a sack of rice. She divides the A) 2§ (B) 32
rice equally into 7 bags. What fraction of the full 8 8
sack of rice is in each bag? 3 5
i o o =TereT B O SR b Y e R e wEe (O 3 (D) 32
I 7 AT H TSR et 2l Tedsh a7 =wrad
ﬁqﬁﬁﬁﬂm W 22 357. What is the perimeter of a square is 226 cm,
(A) 1/28 (B) 1/7 then the length of its each side is?
© 211 (D) 11/28 @aﬁwqﬁqwzzéﬁé,ﬁwsﬁmgwﬁ
T R B2
352. Every natural number has an infinite (A4)56.5 cm (B) 56.04 cm
number of 9 (C) 54.54 cm (D) 55.5 cm
Sk Tehceh ST H THd & § BIt 22 .
o c . 358. Ten crore is equal to?
(A) Prime factor (STHSY TUHEE) T FUES T 22
() Lresizers (e (A) 1 million (1 firferemT)
(C) Multiples (T%) . (B) 10 million (10 frferr)
(D) None of these (37 & 1 Tef) (C) 100 million (100 firferer)
(D) 1 billion (1 farferm)

qdied, RMS, ﬂﬁas RIMC, CHS & 3iTHdTsd
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359. The number that should be added to the sum 363. Find the value of ‘a’ in the given figure?

of 4% and 6% to get 15% is? Rk < X @ B A l

4% R 6% & I | e W 15% T T Tt

90°

T AT BT
(A) 4% (B) 4% ) a0 » "
2% 29
© 4= (D) 45
360. Which one of the following decimals is Eé; :(()): Eii 112:

. 167
equivalentto — ?
250

et 3 167 364. A merchant bought 40 kg of rice for ¥1600
EARLAL 250 ¥ ® and sold it for ¥1800. What was his profit?

(A) 0.68 (B) 0.586 T ATIRT = T1600 T 40 fohetam =mae i 3t 3=
(C) 0.658 (D) 0.668 Z1800 H STl SEehT FATH! AT T2
(A) %100 (B) 200
361. In the pictograph. Total number of cars sold (C)Z300 (D) T400

by a vendor from March to July are given, find
the total number of cars sold by the vendor from 5.
March to July?

o . N . grams each and four cloth washing bars
Femrere # Teh fershart gr o= & Qililléﬁiﬁﬁrlgaﬂﬁ weighing 275 grams each. What is the total

1 e T A 7T 2, Torshar s ATl W s ah o=t weight?
TS il bl het AT Tl HIToT? A | T fefora et Tieh T ae 125 T §

There are three soap bars weighing 125

No. of sold Cars @'=5D0zen€ar ﬁtwm%ﬁiaﬁ lil hl T ASH 275
Day (&) bt i (ST ) T B et IS T &2
March (AT eeeees (A) 1kg 200 g (B)1kgd75¢g
April (378reT) SIS (C) 1kg350 ¢ (D) 1 kg 500 g
May (%) EISISISIS)
June (SF) =B 366. When two lines intersect at a point, what are
they called?
July (FTTs) EIEIEIEIEIES St &1 vt fopelt foig o woh-gEt T et €, 3
(A)23 (B) 60 T T &7
(C) 1380 (D) 1400 (A) Concurrent lines (FTTHY {@TT)
' =2 . : (B) Parallel lines (SHITR {@TY)
362. When (-1) is multiplied by itself 200 times, (C) Intersecting lines (gﬁ%ﬁi’@ﬁ)
then the product? it
S (— 1)a§mﬁzoowgvrrﬁmwm%’,a“rgumw (DY Bl )
FAT Y
(A) ~200 (B) 200 367. Simplify (81 Eﬁﬁ'l'éf)
(©) -1 (D) 1 3><[2+{2(11+4—2)}}—2
7
(A)1 (B)6
(C)8 (D) 4

TdId, RMS, ﬂﬁas RIMC, CHS & 3iTHeIrsd
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368. What is the value of

479.879+30.23?
479.879+30.23 T STHTA A T 72

approximate

(A) 16 (B) 17
(©) 18 (D) 19
369. Find the area of the shaded figure given
below?
=it 1 TS STAAffeRd AT T &he J1d ey
8 cm
H L L]
5
] ] :
£
o
=
H []
30 cm
(A) 208 cm? (B) 450 cm?
(C) 242 cm? (D) 260 cm?
370. To provide water connection to a house, 55

meters of pipe is needed. The owner of the house
has 3 pieces, whose length is 20 meters, 16 meters
and 10 meters, then what more length of pipes
(in meters) does he needed?

T X H T T e 9o o Tore 55 Hiex ursd i
STET 8| 5L o HIcTeh o UTH 3 I &, [Seh olelTg 20
e, 16 Hiet 3R 10 Hie 7, a1 3¢ 3R foha! Tarrs o

uTgY (HieT H) =mfeu?
(A) 10 B)9
(©)8 (D) 7.5
371.  Which of the following numbers is not a

factor of 68?

freafaRad & & i o we 68 1 UHeEs TE 82

(A) 4 (B)2
©) 6 (D) 17
372. The difference between the greatest 6-digit

even number and the smallest 6-digit odd
number formed by using the digit5, 2, 9 and 0, if
each digit is used at least once, is?

3o 5, 2, 9 I 0 T ITANT Hleh TS TS TS Tl 6-
I T GEAT 37N He BI 6-37h faw dwea &
i1 o7 37T T ], AT Tedieh 3ieh ol o & o Teh ST
ORI foRaT STTaT 82
(A) 799461

C) 799351

(B) 789451
D) 798461

All Rounder BSS
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373. The successor of one million is?

T THfeTa a1 SR i 82
(A) 2 million (2 fifer®)  (B) 100001
(C) 1000001 (D) 999999

Simplify (S hi): (888 X8 X 88-+8+88+4)?
(B) 88
(D) 222

374.
(A)111
(C) 888

375. The difference between the greatest and the
smallest factor of 78 is?

78 % ¥ g SN TH DI UGS % s1a I IR
ERIR

(A) 77 (B) 78
(©) 39 (D) 56
376. A storekeeper bought 100 pairs of shoes at

Z600 each. He sold them for 750 each. What
was his total profit?

Teh TIEHITT A T600 T H 100 STt sht TSt @Let
3R 378 T T750 H S| JHERT e AT T T2
(A) %10000 (B) T15000
(C) 20000 (D) 225000

377. The sum of the place values of 0 and 9 in the
number 943068 is? ]
HEAT 943068 H 0 3T 9 o TATTT HIHAT h1 AT AT &2

(A) 900000 (B) 9000000
9 (D) 900100
378. The area of a square field is 729 square

meters. Find its perimeter?

Tk TR HET T &kt 729 3 Hiet 8| SEehT Ui
J1a hif?
(A) 108 m
(C) 104 m

(B)112m
(D) 116 m

379. The difference between the reciprocal of (l%

and 22) is?
)

(1% K 2%)%W%WWWW%?

(A) 1/3
(C) 4/15

(B) 2/5
(D) 5/12

(49176108 79108
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380. The simplification of the following in 383. Rohit purchased 10 televisions at 2 TVs for

decimals ¥8000. He sold each television for £8500. What
1 a1 TR (SIHAT ﬁ) FATEN? was his total profit?

5 5 8000 it 2 Sefifersi & Ufed = 10 Setferw @il
( +E+Mj I S SAlferst 8500 H S| et TATH T T2
(A)5.55 (B) 5.055 (A) T40000 (B) 500
(C) 5.5055 (D) 5.0505 (C) 745000 (D) %5000

381. In the given bar graph, Total tons of wheat 384.  The value of 200°F in degree Celsius is:
production in an agriculture field in different 200°F 1 fesft afewrra & ur 1 22
year are given below, find out the total wheat (A) 80.3°C (B) 93.3°C
production from 2000 to 2002 (in thousand tons)? (C) 100.3°C (D) 105.3°C

e fow e R 7T A, ﬁﬁqﬁaﬁﬁ@aﬁﬁ&ﬁaﬁﬁg

IcqTed & el & g, 2000 & 2002 T FATE
> EOE = ® 385. Name the type of an angle whose measure is

SCATST SRIHANRTIIS (ST Etrﬁ)? 29° more than the difference of 136° and 77°.
=~ 30 36 IV T YRR 3T ST 719 136° 3R 77° %
5 . 3R Y 29° R 2
=3
.‘é e (A) Acute angle (-‘{HEQUT)
§ [ 20 (B) Obtuse angle (3Tf&rek hom)
2 E 15 (C) Right angle (Tw=hITT)
'E, 1= 10 L (D) Reflex angle (Ifcardf s
s
= > T 386. Simplify (8T EASD)E
0 - 1+[1+1+{1+1+(1+1+2)}]
1998 1999 2000 2001 2002 (A)1 (B) 1/2
Years (3¥) (C)2/3 (D) 5/8
(A) 50 tones () (B) 70 tones ()
387. The product of two number is 1183. If one
C) 60 t =) D) 80t
© ones (<) (D) one: 88 number is seven times the other, then the sum of
the number is?
382. Find the value of ‘a’, ‘b’ and ‘¢’ in the given ﬁmﬁww 1183 B Ife Ush & gu i &
figure below. i h
: I THT 2, T ST T FHT 71 32
TS AT F “a’, b’ HI ‘¢’ T HH F1d shieT| 2o
C < N (A)91 (B) 104
(C) 97 (D) 114
388.  The sum of all factors of 42 is?
42 % qeft TUTTEET BT ART R B2
2¢ (A) 54 (B) 96
b (X ) 2 (C) 92 (D) 98
75° \b
389. The product of the place values of 3 and 5 in
the number 2730459 is? ]
HEAT 2730459 | 3 3R 5 o T AT 1 OMHGA
FTR?

B faauneeress e, RMS@T%%CHS 3" SIS 91 76108 79108
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390. Find the area of the shaded figure given
below?
= &t S SRIifeRa 3TTRf T SEhe Td i
A B
3cm 2¢cm| 3cm
&
o
o)
&
o
E 1)
o
o
D C
(A) 64 cm? (B) 37 cm?
(C) 60 cm? (D) 80 cm?
391. Round off the following number up to the

nearest whole number?

frmferfia s s feheam qot s e quriferd 2

7360.4421
(A) 7361 (B) 7360.9
(C) 7360 (D) 7400
392. Some students have collected amount ¥ 2,160

for a picnic. If each student has given ¥ 45, then
find the number of students?

F® B A Uehieh o [T T 2,160 st TRT THEE T
Bl Ife g% 3 A T 45 few &, 91 IET it v I19

(A) 48 (B) 42
(C) 45 (D) 50
393. The sum of the first six multiples of 8 is?
8 % T2FH e TUTSIH T FNT AT &7
(A) 168 (B) 164
(C) 166 (D) 158
394. The greatest number of six digit that can be

formed by using the digit 0, 2, 3, 6, 5 and 8 is?

3FF 0,2, 3, 6, 5 3T 8 T IYANT Tk SHTS ST Hehel
ATt B ekl sl Tl TSI HEAT FAT 7
(A) 863520 (B) 865230
(C) 806532 (D) 865320
395.  Simplify (B &): 1+[1+1+(1+1+3)]?
(A1 (B) 1/3
C) 4/7 D) 3/7

All Rounder BSS
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396. A shopkeeper bought 20 pairs of gloves at

%150 per pair and sold each pair for 180. What
was his total profit?

Ueh GhMER A Z150 Ffd SIEl 7 20 St a&d™ @rliet
aﬁru@msﬁzﬁﬁﬂsoﬁawwswww
o?

(A) T400
(C) %600

(B) T500
(D) 700

397.  If the perimeter of a square shaped garden is
92 m, then its area is?

Ife Tk AIRR ST o7 GRATT 92 Hiet ®, Ol SHehT
BB T 22
(A) 509 m?
(C) 529 m?

(B) 517 m?
(D) 535 m?

398. The number 7086*54 is divisible by 9, then
find the value of *?

&I 7086*54, 9 T faar=a 8, a1 * o1 {9 J1d hifei?
(A)6 B)7
()8 (D)9

399. The sum of the reciprocal of (g and ; ) is?

(g aﬂt§)%sgc—9maq‘raﬁﬂw%?

11 14
2~ B) 2—
(A) 15 (B) 27¢
11 14
C) 3— D) 3—
(O (D)o
400. The fraction representing 0.216 in its lowest
form? ]
0.216 3T 38eh =IFTH FT H SR ATAT 4 i € 872
(A) 17/25 (B) 27/125
(C) 17/125 (D) 37/125
401. By selling a TV for ¥ 16,920, a dealer incurs a

loss of ¥ 1,080. For how much should he sell this
TV to make a profit of ¥ 1,080?
Teh et I T 16,920 | S T Tk Sl 1 T 1,080

1 BT BIdt 81 98 39 e i fohae § si= 3T £ 1,080
T AT B2

(A) % 18,000
(C) % 20,000

(B) % 19,080
(D) ¥ 20,080

C +9176108 79108
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402. The area of the shaded region is: 407. The areas of a square and a rectangle are
BIATTR STIT ST &AHA & equal. If each side of the square is 42 meters and
15 cm the width of the rectangle is 28 meters, then the

perimeter of the rectangle is:

Teh 11 3 T o STl e 2| Afe ot hl I
VST 42 Hiet & QT ST ol =vers 28 HieX &, at A
T AT &:

(A)91 m (B) 121 m

(€)175m (D) 182 m

\ 408. The measure of a refl(g angle is:
TS Hfcial hIvT T HIY BT &:
\

= (A) More than 90° but less than 180°
(A) 205 Sq cm (@ &) (B) 150 Sq cm (3T &) (90° & 3fereh TT=q 180° & )
(C) 120 Sq cm (S AHY) (D) 150 Sq cm (I &) (B) More than 180° but less than 270°

/

15 cm

(180° & 3fereh Ut 270° & M)
403. The product of all prime numbers between (C) More than 180° but less than 360°
80 and 90 is: _ (180° & 3fereh Ui 360° ¥ %)
;0 HIT 90 o sfi=r hl |t HHTST HEATSAT T TUHHA (D) less than 90° (90° & )
(A) 83 (B) 89

409. The given bar chart shows the marks
(C) 7387 (D) 598347 obtained by a student in four subjects. The
average of the marks obtained by this student is:

404. The sum of the largest 7-digit number and fee 1 e = U H ST

the smallest 8-digit number is: 1 GRITAT 8| 56 forameff 3k STHieht <At 37ierd &:
731 - e T § i -5 AL
gen s Imea s
(A) 19999999 (B) 1999999 SR T~
(C) 10999999 (D) 1000999 60 L-l_LZ_1 N D I

405. Four square tables with sides of 1.3 m are 4“0 F

placed edge to edge to form a large rectangular 20 L
table. The perimeter of this large table is:
1.3 HieT [T aTeft = ek HSt ol fohi & fopemar 0

T X 3 TeRT T@T o6l Teh STt STTAATEhRIL 0t W & English Hindi Maths Science
EEECEEEIR GRS @St (el b ()

(A)52m (B) 10.4 m Subject (faremT)
(©)13m (D) 20.8 m

Marks (STHT<R)
1
1
:
1
1
1
|

(A) 80 (B) 75
2 5 1 ©) 70 (D) 60
406. In On simplifying 5=—-2> 3 — t:
n On simplifying 5 5 on we ge
53—2§—3i ! T R 9T ITH BT 8
3 6 12
1 1
A) = B) ——
( )4 (B) 7

1 1
©) _3E (D) 3

ounder , RMS, , RIMC, CHS & 3]
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410.  On subtracting the number & from 29 we

26
get:
e 1 1 % & 9 T T BT &
11 18
(A) = 26 ®) -
18
©) E (D) >

411. A vendor bought some lemons at the rate of
5 lemons for ¥ 7 and sold them at the rate of 2
lemons for ¥ 3.50. Thus, his profit or loss on
selling 100 lemons is:

e Torshall e 1 % 7 % 5 i & W1e & Tlle qom T
3.50 % 2 fie] % W ¥ =< 39 FHR 100 A 5= T/

IHRT T AT BT 2

(A)E35 Loss (R &) (B) % 35 Profit (T &TH)

(C) % 0.35 Profit (FTA™) (D) %25 Profit (T &A1)

77 7
412.  Simplif 54—+ —+—

implitying S+0+ 7050 " 1000 &
LT S G ST UL YT Bl 8
™10 "100 " 1000

(A) 12.151 (B) 12.777

(C)7.240 (D) 12.847

413. The sum of the smallest odd prime number
and the largest 2-digit prime number is:

gy DI Ty 319TsT T 99T 2-37eh hl Ted ot

SIS G&AT T ANTHA 2
(A) 98 (B) 99
(C) 100 (D) 103

414. In How many % should be added to get

412?
3

ﬁmﬁ% frama 41% ITH BT

(A) 125
(C) 250

(B) 150
(D) 350

417.

qdled, RMS, AfRa5, RIMC, CHS & 3iTHaTeA

415. InThe type of angles shown in the figure are:

37T H ST 7T HI0T HT T &:
(A) Acute angle (I EﬁUT)

(B) Right angle (GwehIUT)

(C) Reflex angle (‘;rﬁa?ﬁ ‘elﬁUT)
(D) Obtuse angle (34'%35 EIﬁUT)

416. The monthly expenses of a family are as

follows:

U Ui o1 ATfée @ e JeRR A E:

Kitchen expenses (@S‘W@é) = ¥ 9378
Education (f31&T) = 2 3780

Transport (&)= ¥ 2817

Miscellaneous expenses (ﬁﬁq @?f) = ¥ 4388

The total monthly expenses of this family
rounded off to the nearest thousand are:

39 IRAR T ol HITHeh @ A~lhed g1 Hepean
IR T A | 8:

(A)Z 21000 (B) ¥24000
(€)% 20,000 (D)% 23000
Which of the following are not equivalent?
ﬁmﬁf@ﬁﬁﬁaﬁmﬁwqﬁ%‘?
18 3
A) — and — (= —
( ) 30 5 oV )
2 5 20
B and — (— =
®) %8 2 7 ( 28 7 )
24 6 24
(C) and o= (g T ¢ )
36 9 6
= oand 22 (2 ==
® ) 22 (g T 7

The ascending order of 5.50, 0.05, 0.55, 0.005,
5.0005 is:

5.50,0.05, 0.55, 0.005, 5.0005 3T & GT (TR
0 E:

(A) 0.005 < 0.05 < 0.55 < 5.0005 < 5.50

(B) 5.50 < 5.0005 < 0.005 <0.05 <0.55

(C) 5.0005 < 5.50 < 0.55 < 0.05 < 0.005

(D) 0.05 < 0.005 < 0.55 < 5.50 < 5.0005

(49176108 79108
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419.  Which of the following is correct? 423. The given bar chart shows the number of

fraferfaa & @ s-ar w22 matches played by cricket teams of different
play y

(A) 5m 8 cm = 580 cm countries in a year. How many matches did the
Australia team play more than the Pakistan

(5 Hex § Tt = 580 T o

(B) 7m 55 cm = 7055 cm ferm e gug = T g &t forehe it 510w o

(7 HieX 55 &Y = 7055) Tt T @er Tu A o we awitar 81 sAreforn i Am

(C) 2 kilometer 70 meter = 270 meter o™ ohl 19 & Tora+ i e ©a?

(2 Teretttex 70 Hiex = 270 Hiew)
(D) 6 kilometer 11 meter = 6011 meter
(6 ToRetttex 11 Hiet = 6011 Hex)

W
\S]
1

NN
A~ o
LI
L |
T 1
L |
T
1
1
1
1
1
1
1
1
1
1

420. Three bells ring at intervals of 9,12,15
minutes respectively. If they ring together at 8
am, then they will ring together again at:

i sfeat shaet: 9,12,15 fiFe & 3iqte T seidt
Ifg I ITa: 8 SIS Ueh |1 &, o L SIeTT Teh A1
ESE

(A) 10 am (ITd: 10 &) (B) 11 am (JTd: 11 &19)
(C) 12 pm (@Y 12 %7) (D) 1 pm (319X 1 =1)

—_ [\®}
(@) =
T T

~ o

No of played matches (Tt T Tt <Al HEAT)
o

421. The purchase price of a book is ¥ 100. A &8 @QQ}% N
shopkeeper sells 3 such books for ¥ 275. What is Q‘g% \}c}*
his profit or loss? v
U & 1 %6 qed T 100 € | U ghMaR U 3 Country (331)
T i T 275 H ST & | SEehT AT o1 81 1 S 2
(A) % 175 T AT (Profit of ¥ 175) (A)8 (B)2
(B) % 25 T AT (Profit of T 25) (OF (D) 6
(C) T 175 FI BT (Loss of T 175)
(D) 25 EANIC] (Loss of ¥ 25) 424.  In the figure, the measures of ZAOB, 2BOC,

£COD and £DOE are respectively:

422. The value of 30009 is the same as: < ﬁ’ £AOB, £BOC, £COD = £LDOE *

30009 T A F&T & 51 foh: T SHHST: 8

(A) 30 ten thousand and 9 tens D C
(30 TH ST qYT 9 LTS 1)

(B) 30 thousand and 9 hundred

(30 ESTR AT 9 Vhg )

(C) 3 ten thousand and 9 ones

(3 T BT AT 9 FHTS )

(D) 3 ten thousand and 9 tens

(3 TE BSTR T 9 TETS 1) (A) 20°,40°,80°,120°,
(B) 30°,30°,70°,130°,
(C) 40°,30°,120°,70°,
(D) 50°,20°,80°,110°,

TdId, RMS, ﬂﬁas RIMC, CHS & 3iTHeIrsd
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425. If the sum of two angles is an obtuse angle, 430. A machine can print 12 pages in 1 minute.

then which of the following is not possible? How much time will it take to print 5760 pages?
aﬁﬁaﬁvﬁwaﬁmwa%%aﬁw% AFEFE EWE R 1278 waﬁ%lsmo‘éaﬁ
HIH-H1 A T8 & ? BT H ToheT 8T I 2

(A) @WW@WQ—T@W (one right angle and (A)7 He (7 hours) (B) 8 e (8 hours)

one acute angle)

(B) Ueh 3[R 10T AT Ueh =IH %107 (one obtuse angle

and one acute angle)

©) ar aq o (two acute angles) 431.
(D) & FHHIT (two right angles)

(C) 8% e (8% hours) (D) 9 2 (9 hours)

How many sweet packets weighing % kg can

be made from 30 kg of sweets?

30 fr firets & % Foram T 3 R T ¥ e

426. 31% when converted into a decimal give:

. SR ST EehRd & 2
B¢ 1S axTerd & aRafdd F T (A) 20 (©) 30
(A) 314.375 (B) 3.14375 (B) 40 (D) 45
(C) 31.4375 (D) 31.475
427.  Solving 5§x8£—31>< 5§ gives 432. If % is a fraction, where a = b — 3 and
8
(approximately): a+10 a_ 10 then
55 gt gl o % & T WATH ST e 7 10 a_10
SRR afs = Qﬁﬁﬁiﬁ%mab3wa+ a
(TIT): b b 7
(A) 25 (B) 26 %;ﬁ 2s.
(C)27 (D) 30 g
A) — B) £
( )11 (B)

is 82 kg. The difference between the weights of (©) 7 (D) =
both, rounded to the nearest tenth, is:

ﬁﬁﬁ AR 107 FRUT 8 T TS AT IR 82 FRIT R | 433,  The area of a rectangular plot is 616 square
T o W ohT Gfehes g1 fiehedd 22TS o 114 hl 3T meters and its width is 22 meters. The cost of

2
5
428.  Sumit's weight is 107 kg and Sanjay's weight 5
8

3 fencing it around it at the rate of Z 7.50 per meter
’ is:
(A) 30 6T (30 kg) (B) 100 T (100 kg) Teh ITAATR N TATE T 8% 616 1 HieT & 3 3HehT
(©40fFm(“okg)  (D)20 TR (20 ke) et 22 Hex & | 39 AR 3 7 7.50 R s Fr
T S AN HTTE ¢ :

429. The sum of the digits of a number is

subtracted from the number. The resulting Ll (B)T 375

number will always be divisible: (C)T 4620 (D)Z 750

Teh AT % 3o ohl S TEAT H TCRATACTR |

gforY ST gder arsT 2t 434. If each side of a square becomes one-third,
A)2 & (from 2 B)7 & (f then the area of the square will be:
(C)sﬁ(foms) (D);g(fmm;) afe W ot ) e ST Ok — ferers & S, A et e

© (from 5) (D) 9 ¥ (from 9) ST B ST -

(A) Teh-GTaar (one-seventh)
(B) Tsh-fa@Tg (one-third)
(C) Th-HATSdT (one-eighth)
(D) Ush-AdT (one-ninth)

qdied, RMS, ﬂﬁas RIMC, CHS & 3iTHdTsd
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A fraction remains the same or equivalent if:

T e ot o g et 2 Af

(A) U & GAT I T g H S I (Add the same
number to the numerator and denominator)

(B) T & He&aT T AT T HeT & A (The same
number is subtracted from the numerator or
denominator)

(C) T & HEHT § 379 B ! T fofaT ST, =1 i
BIE (The numerator and denominator are
multiplied by the same number, excluding zero)
(D) 38 gk ¥ TUIT o1 STTT (be multiplied by

its reciprocal)

If we write all the numbers from 1 to 100,
how many times will the digit 9 appear?

e g 1 ¥ 100 T i Tuff STt & forad &, ar
37k 9 TR ST 3qTQITT 2

(A) 12 (B) 0.12

(C) 1.02 (D) 1.2

In the given pictograph, total kg of banana
purchased by different person are given below,
find out the total kg of banana purchased by
Raju and Kalu?

i few e o A, fafsr saferat gro @ die o s s

e TR foam T @, U] ST shie] g il 1T et

bl et ErIpIEiIGH EAISIY
436. The perimeter of a square is equal to thaft of Person (A1) g%gggﬂgwgm &=(22'%l;a;;1;
a rectangle whose length is 17 meters and width _
is 11 meters. The area of this square (in square Raju (=) LYY
meters) is: Suresh (G o oh
TSk 371 SRl TIHTY I AT o G0 & FSTeeh! ealTs 17 o VY YT
HieX qeT =STs 11 HeX © | 36 ol 3T & (I HieY)
ﬁ % . Mohan (n“tg:r) @3
(A) 196 (B) 14 Sl o D & B
(C) 187 (D) 121 (A)9 kg (B) 22 kg
(C)11kg (D) 16 kg

437. 1f4392 + 3.66 = 1200, then 439.2 + 36.6 =
Ife 4392 + 3.66 = 1200, AT 439.2 =+ 36.6 =

(A) 12 (B) 0.12
(C) 1.02 (D) 1.2

442, If £LCOB = 130° then find the value of
Z COA?
Ife LCOB = 130° & A1 LCOA T 9T JTd shifSu)

438.  The profit made by selling an item for ¥ 2540
is equal to the loss incurred by selling the item C E
for Z 1850. The purchase price of the item is:
Teh % I T 2540 F S TS @1 W BT € , 98

TGHTIBSOH T RA T AN Y, Fopaww | o S > B

| S T 3 T B

(A)Z 2095 (B)¥ 2195

(C)T 2010 (D)% 2020 D
439. The product of the largest 3-digit number S i &) iz

and the smallest 3-digit number made up of 9, 6 (C) 36° (D) 18°

and 0 is:

3 Ikl il ST F L FEAT AT A1 3T A B
BT HEAT I 16 9, 6 TAT O W ST &, T UARA © ;
(A) 66240 (B) 999000

(C) 584640 (D) 869760

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea
aﬂﬁw%ﬁvwﬁmaﬁ
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443. A wholesaler bought 100 kg of potatoes at
%20 per kg. He spent 500 on transportation. He
sold the potatoes for 30 per kg. What was his
profit?

T 1% SR | 220 Wi fRamm i 3 E 100
TR 3T T 38 T500 TNEe W e oy 3T

1] 230 Sier TereTIorm H S| SshT AT 1 T2

(A)Z1000 (B) %1200
(€) %500 (D) 2000

444.  Change 375 minutes into hours and
minutes.
375 fie i w2t 31K foret # |
(A) 6 h 15 min (B) 6 h 25 min
(C) 6 h 12 min (D) 6 h 35 min

445. The complement of one—fourth of a straight
angle will be:

Teh T 0T o Teh-HTTS oh1 ek T
(A) Acute angle (?iljaﬁ'UT)

(B) Right angle (HTITﬁUT)

(C) Obtuse angle (3ferh 10T

(D) Acute or Half of a right angle
(I IV AT HHHIOT T T

446.  Simplify (S ShITSR):

SE— 3£+ 25—1
7 10 5 10
4

3
(A) 17 (B) 27
3 4

447.  The product of 10101 and 36 is?

10101 3R 36 T IS HT 82
(A) 363836 (B) 364636
(C) 363636 (D) 363536

448. A square and a rectangle have the same
perimeter. If the sides of the square is 16 m and
the length of rectangle is 18 m, the breadth of the
rectangle?

Teh ot 37 Teh AT T TIHTT TH 2| AT o <ht
¥STT 16 HieX & 37K 37 o <iarg 18 et &, a1 o
Y =S FTR?
(A) 14 m

(C) 16 m

(B)15m
(D) 17 m

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

449.  Simplify (39 H): 5320+ 14+4=2
(A)96 (B) 97
(C) 95 (D) 98

450. Find the approximate value of the following
expression?

frAfeRa ssTeh ST ST AT T ShifoTa?
44.04+444.4+4.444+0.404
(A) 494
(C) 495

(B) 492
(D) 493

451. We reached our destination at 2:45 pm after
travelling for 4.5 hours. When did we start?

TH 4.5 © 3T ATAT % MG QIR 2:45 ST 379 T W
T T el JTHATA 1?2
(A) 9:00 am
(C) 10:15 am

(B) 10:00 am
(D) 8:15 am

452. The common factor of 6, 8 and 16 are?

6, 8 3R 16 % HTE UGS FT &7

(A) 1 (B) 1,2
©1,2,4 D) 1,2,4,8
453.  Find the greatest 5-digit number that can be

formed by using the digits 9,0, 1, 7 and 5?
3HH 9,0, 1,7 3T 5 T IUANT ek TS ST Heh Tl

oy I 5-3h1T H&AT J1d hIfSu?
(A) 97510 (B) 97105
(C) 79501 (D) 95107

454. If110111is divided by 11, then the sum of the
quotient and the remainder is?

I 110111 T 11 & forarfSra foram STe, ar wmeet 37K
AYHS T I RIT 22

(A) 10010 (B) 1011
(C) 10011 (D) 10111
455. A businessman bought 5 sets of furniture for

Z5000 each and sold them for 6000 each. Find
his total profit.

Teh A TE5000 H 5 A FriFa @i SI= 26000
T S| 38T et JHATHT AT 412

(A) £2000 (B) 3000

(C) 4000 (D) T5000

All Rounder BSS
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456.  The face value of 4 in the number 438617 462. In the given bar graph shows the number of

TEAT 43861 | 4 o1 3ifohd | T 22 shirts sold by the vendors in a week are given

(A) 40000 (B) 4 below. If initially he has initially 250 shirts, then
how many shirts he has left after a week?

(C) 10080 (JF)i=08% e feT 7T IR I § we wETe | foskar g St g

31E T HEAT TR 15 2l ATS EATA § Iqeh T 250

457.  Arectangular picture frame is 64 cm long and ; T S T e o
42 cm wide. What will be the length of the TEE, W AL e T &

wooden frame required to make it? 65 +

T STRIATRR e 60 64 Tt el 37 42 At <ien 22 T
{1 T T o TTT STTarvareh Aehgl o S shl TS fehaT = E 50 |
g0 E 1
' £% 40 |
(A) 204 cm (B) 208 cm = 1
(C)212 cm (D) 216 cm s :E 30 +
b 250
£ B0 L s -
458. The sum of the digit of a two-digit number is 3 % 15 1 10
subtracted from the number. Then, the resulting 10 1
number is always divisible %:[ ] 5 4 I
31 3fehT ATt HEAT o ekt T AT 36 TE&AT H § T 0
e St 21 < ahome e ghven e favrea i Mon Tue\\Wed Thu Fri  Sai
(A)2 B)7 @) () (@) (T @) @)
D
(€)9 (D) 11 gys (R
(A) 50 (B) 60
c (©)70 (D) 80
459. The reciprocal of the fraction 4E is?
5 463. In the figure given below, if the Zb = 130°
fim 45 T oFcsh EEILH then find the value of /¢ =?
(A) 13/47 (B) 57/13 .
(C) 13/55 (D) 13/57 M
460. 14+2— 3 M8 ?
100 1000 10000
(A) 14.0162 (B) 13.0152 X b3 >y
(C) 14.0152 (D) 13.9762 AN

461. A trader bought 200 t-shirts at 150 each. He
sold them for ¥180 each. Find his total profit.

N
T SATIR A 200 H-31E 1 50 ey I1-318 il & @l &t g sTmeRfa §, AfT £b = 1300 3 A1 Le =2

IG 375 T180 Wit 2RI hT T H S| IHHT FA AT (A) 50° (B) 72°
EIEAISI (C) 36° (D) 18°
(A) %4000 (B) T5000
(C) T6000 (D) %7000
464. Change 627 seconds into minutes and
seconds.
627 HehE i e R Tehe 1 5|
(A) 1 min 27 sec (B) 11 min 27 sec
(C) 10 min 17 sec (D) 10 min 27 sec

B faauneeress g, RMS ﬂ?:sﬁ::n;cﬁcns 3" SIESE ™ 191 76108 79108
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465.

466.

467.

468.

469.

470.

471.

An angle is three times of the half of a right
angle. Find its supplement.

Teh {0 FHhI0T o STTY T 1 AT 2| SEhT I hI0T
RIS 1Y

(A) 90° (B) 135°
(C) 145° (D) 45°
21 9 5 10
Simplif FIR): o+ —x—+ = =7
plify (&7 =I: e 2012 " 17
(A)2.32 (B) 1.62
(C)3.42 (D) 1.32
In a division sum, if divisor, quotient and

remainder are 54, 97 and 17 respectively, then the
dividend is?

Teh YT T |, JfE WTSTeh, TRTH 37T Y SHAST:
54,97 3R 17 &, AT AT 7 82

(A) 5225 (B) 5235
(C) 5245 (D) 5255
A square shaped park, whose perimeter is 72

meters, its area will be?

Teh TR UTeh, FST&eRT afATY 72 Hiet &, SHehT S%et
IET IR

(A) 144 m? (B) 2376 m?
(C) 1296 m? (D) 324 m?
Estimate the sum of 43876 and 54357 to the

nearest hundred?

43876 3T 54357 o1 ANT feheaH ek doh AT
L7

(A) 98100 (B) 98200
(C) 98300 (D) 98400
Cost of a dozen pen is 180 and the cost of 8

ball pen is z 56. The ratio of the cost of a pen to
the cost of a ball pen is?

Teh GSi U 3T 3h1Ad T 180 & 3T 8 STt U 3hl shimd <
56 &1 Teh U Shl el 3T Tk ST U shl hiwel & ST9Td
RITE?
(A)15:7
©1:1

(B) 180 : 56
(D)8: 15

The total number of prime factors of 1152 is?

1152 3 3TWTS3 TURGST 2l el AT T 82

472. The sum of the greatest 5-digit number and
the smallest 4-digit number formed by using the
digits 3, 0 and 5, if each digit is used at least once
is?
3ok 3, 0 I 5 T ITANT Hleh 4TS TS G T 5-
ST TAT TR T8 DI 4-3FhIT TAT 61 AN 7
B0, AT T 37 T H FHH TH TR ITANT fora
T
(A) 85535

(C) 58435

(B) 58535
(D) 85435

473.  The value of the following product is?

freaferRa TorRer &1 AT @ 82
1111x1111

(A) 1234321
(C) 1234561

(B) 1233321
(D) 1543221

474. A shopkeeper bought 50 books at 120 each
and sold them at 150 each. Find his total profit.

Teh GehHET A 50 feharsl 2120 S fefdTer il s &
TUET 3R 38 %150 Uit foharer it & & = 3eeht

e T T i)
(A) %1200 (B) %1500
(C) %1800 (D) %2000
475.  The greatest 3-digit prime number is?
T ST 3 SRR TS HEAT hid ©l 22
(A) 991 (B) 989
(C) 997 (D) 987
476.  Simplify (3T FY):
12X84+14-4X7+16="7
(A)50 (B) 55
(C) 60 (D) 65
477.  The area of square plot is 1156 m?2. Find the

length of each side is?
T IS T &R 1156 m? 31 Teieh i1 oh1 aTs

J1a ehifera?

(A)38m (B)36m
(C)34m (D)32m
478. How many natural numbers less than 20 are

composite number?

20 § Y foheT STehfeh ST WIS Tt 82
(A)9 (B) 10
©) 11 (D) 12
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479. How many one-fourths are there in 12? 483.  Anil purchased 25 fans at 800 each and sold

12 ¥ fora Uh-=nes 87 them for 850 each. What was his total profit?
(A) 12 (B) 36 A 7 25 9@ 800 Tid U9 H W H Tle 3R 3T
(C) 72 (D) 48 fSSOHﬁq@ﬁaﬁWIW;ﬁmww
(A)ZT500 (B) %700
480, 7 +i e _2 (C)%1250 (D) %2000
10 100 1000
(A) 0.741 (B)0.739 484. Convert 15 years and 4 months into months.
(C) 0.73 (D) 0.073 15 99 3R 4 TEH T qEHT A 5|
(A) 165 months (B) 174 months
481.  Given graph shows the number of damaged (C) 184 months (D) 194 months

TVs in different country, find the total number

of damaged TVs in Bangladesh and Pakistan?

fear T T T et B afed At R weratar 485 An Find the supplement of a complement of
two thirds of a right angle.

&, ST SR TR  afeored Sefl B0 FT FS g yepron 35 @ ferrd 3 e b1 €iqeeh 0 1R

1 hifTe? (A) 120° (B) 150°
Country (39) 6 7 P =(11 (;;s;;\; (€)30° (D) 60°
Srilanka (2fteieRT)
Bangladesh (ST&T39T) 486.  Simplify (8 hIToRY): 37-9%16+4-1=7
Pakistan (qTThEaT) (2)(2) (E) ;l
England (39) © ®)
Australia (3TETerm) &
ustralia (3T 487. On dividing 26617 by a certain number, the
(A) 108 Dozen (3S) (B) 106 Dozen (3SH) quotient is 172 and the remainder is 129, the
(C) 110 Dozen (35H) (D) 100 Dozen (3Si) divisor is?

26617 % Tk [ e 9 fofSia i 9T grmher

482. In the figure given below, if .~ AOD = 55° 172 FMAT 129, FIR?

then find the value of .~ EOB =? (A) 154 (B) 156
Fr S ofa H, Al LAOD = 55°8a@ LEOB&T  (C) 152 (D) 158
A T FhIfTe?

488. What will be the area of 12 cm long and 6.5

A .
cm wide rectangle?

12 Tt sl 3TR 6.5 Tt =S ST T &6 T
0 250 g
f (A) 78 cm? (B) 75 cm?
(C) 37 cm? (D) 38 cm?
© B 489. Estimate the difference of 65289 and 39437 to
M the nearest hundred?

65289 FN 39437 % S T SFIAM Fehead dhs T

(A) 54° (B) 72°
(C) 36° (D) 100° T2
(A) 25600 (B) 25700
(C) 25800 (D) 25900
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490. A train started from Delhi at 8:15 am and 496. Simplify (8T H): 43-42+6X5 =?

reached Ajmer at 2:30 pm. The time taken by the (A)0 (B) 6
train to reach Ajmer? 08 D) 10
o YT el & g 815 s et s dme 230 (O D)
SIST ST Y| STSTHL Tg = H {ATTIEH okl foherT & o
N - 497. A wall is built around a rectangular plot of
Sl length 72 m and breadth 40 m. Find the cost of
(A) 10 h 45 min (B) 6 h 15 min constructing the wall at 160 per meter?
(C) 6 h 30 min (D) 6 h 72 HieX FaE 3R 40 HieX SIS ITd Teh ITAATRR

VS o AR ST Ueh G &S T8 21 € 160 Fid Hiet
491. The sum of first five common multiple of 6 1 T AR S ! ATT J1 hiTsg)

and 7 is? (A)Z 32240 (B) ¥ 34860
6 T 7 % T UI |Te TUISI ohT AT T &2 (C) T 35840 (D)% 36120
(A) 620 (B) 630
498. The product of the largest 4-digit number
C) 640 D) 650
© (D) and the smallest 3-digit number is?
T TSI 4-37h1T HEAT TR ol BIET 3-37h1T T
492. The difference between the greatest 6-digit -~ 2
number and the smallest 4-digit number formed S :
by using the digit 4, 9 and 6, if each digit is used (A) 999000 (B) 9999000
at least once, is? (C) 999900 (D) 9999

3k 4, 9 3T 6 T IUANT ek SHTS T3 T LT 6-

STl HEAT ST Hodl DI 4-3Teh1T €T 6 sfter 1 499. Convert 3.03 into the fraction in its lowest
I FAT B, A Tedeh 37k T A ¥ Y Teh oK ST terms?

3R STTAT 29 3.03 %1 I8k =cH Ual H i | srge?

(A) 985495 (B) 995595 (A) 3> (B) 3

(C) 995485 (D) 995495 10 100
©) 3

1000

493. Th duct of the 1 t 3-digit b ) .
e product of the larges igit number (D) None of these (37 & %1 72

and the largest 2-digit number?
oy S 3-37h1T AT 3 el F2t 2-3h T dwAm
500. Aman donates blood twice in 3 years and 350
hl TUTheT T &7
° ® ml each time. How many litres of blood will he
(A) 98901 (B) 99901 donate in 15 years?
(C) 98801 (D) 98991 T 3 G H 31 91 The™ hidT 8 37T & 91 350

fireficiiet The™ &aT 81 15 &1 0 a8 fohad afiex
494. A Sita bought 12 bags at 250 each and sold THI FET?
them for 2300 each. What was her total profit?

AT = 12 s 2250 9T S i 2 8 @iie 3 3= 7300 (A) 53 (B) 31
i ST <Y ST W =T SHRT Shed ATH Tehe =T 972 A 2

€ 3 1
(A) T400 (B) T600 ©) 3Z (D) 45
(C)Z1000 (D) T1200

501. The value of the following expression is?

495.  Which of the following pair of fractions is FefeTfie stfsreafch 1 1 1 82

equivalent? 764%x66+764%34
Frferfiae 5 & it bt 61 @1 3w Heged &2 (A) 74620 (B) 64800
(A) 5/7 and 8/14 (B) 4/6 and 18/24 (C) 34800 (D) 76400
(C) 12/15 and 20/25 (D) 5/9 and 20/45
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502. Given bar graph shows that Marks obtained
be a student in different subject, find the
difference between Maths and GK.

e T s o giian @ for e o grn o fore

T WTH 3, TR ST e, o site T 1 iy

90
80
70
60
E 5
= 40
-:‘“, 30
= 20
10
0
Hindi English Maths Science GK
(fedhy (3t (forn) (o) sfie)
Subjects (ferem)
(A) 60 (B) 70
(©)20 (D) 30
503. Find the value of x’ in the given figure

below?

= € TS SATRfT H <x” T W F1d i)

3x + 25° e
< >
(A) 54° (B) 35°
(©)36° (D) 90°
504. Anil A trader bought 80 kg of sugar at 40 per

kg. He sold it for 45 per kg. What was his total
profit?

T AR A 740 Wi forettom st 3T & 80 foraamm
=T et ST 38 745 Wi TeheaimTe 5 si=i 36eh

AR oI 1?2
(A) %200 (B)Z300
(C) %400 (D) Z500
505. The value of 200°F in degree Celsius is
?
200°F =1 feuit Sfcersre o Wi &1 22
(A)80.3°C (B) 93.3°C
(C) 100.3°C (D) 105.3°C

qdIed, RMS, RfAds, RIMC, CHS &) 3iTHaeTea

506. Find the supplement of a complement of two
thirds of a right
@W%ﬁﬁ%&%wwwmaﬁﬁm
(A) 120° (B) 150°
(C) 30° (D) 60°

507.  Simplify (T HITSR): 25+32+8%9 =72
(A)S51 (B) 63
(©) 57 (D) 61

508. What will be the side (in cm) of the square
whose area is egtﬁal to its perimeter?

39 3 T ST (ST ) AT B S & 3k
AT o SRR 22

(A) 6 (B)2

(C) 4 (D) 8

509. The approximate value of the following
expression is?
frefaiaa stfieatcs s rmT 9 = 82
101.01+111.101+11.011+1.011
(A) 224 (B) 225
(C)223 (D) 226

510. A fruit seller sells bananas at 40 per dozen or

one banana for ¥ 5. What amount to pay for
buying 99 bananas?

T T eIkl 40 9 el i oot ST &, I Teh el
5 %9 | ST 21 99 el @ied o o 3 ferdHT TfsT
ECi kUi v

(A)Z 335 (B)¥320
(©)T300 (D) T 495

511. The smallest composite number is?
e DI ST HEAT i T 82
(A) 1 (B)2
©3 (D) 4

512. How many numbers are there containing 5
digits? '
5 3feh! STt fohet w82
(A) 9000 (B) 89999
(C) 90001 (D) 90000
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513.  Write the following Roman numeral in the

514.

515.

51e.

517.

518.

Hindu-Arabic numeral? 519. Find the value of [6%—%) in the decimal

Ao Qe 31 1 gl i o e -
MMCCCXIV Ny g !
(A) 2214 (B) 2324 LGE—EJ T T ST &Y H J1d hifeTg)
(C) 2314 (D) 2316 (A) 6.8 (B) 7.8
(C) 8.8 (D) 9.8
A shopkeeper bought 25 televisions at 5000
each and sold them for #5200 each. Find his total 5
profit. 520. The product of two fraction is —. If one of
T THFER 25000 & 25 e @le ot = e
£5200 | o= JEhT hed HATRT IT AT? them is 1, then the other fraction is?
(A) %2500 (B) Z3000 . 12 5 . 7
(C) 74000 (D) 75000 aﬁqﬁwwﬁ.%lw%wﬁﬁwﬁ,%,a}
et i e 2t
Simplify: 12-24+6+3%5 =? (A) 10/21 (B) 8/15
12-24+6+3X5 =2 &l & | (C) 10/11 (D) 5/7
(A)21 (B) 23
(C)25 (D) 27

A maximum of how many pieces of 8§ cm
length each can be cut from 490 cm long rod?
490 T+ft Tl BT W 8% Tt TS ATt SRR

fora gohe e 1T Tehd 82
(A) 36 (B) 48
(C) 56 (D) 64

How much will it cost to fence a garden 32 m
long and 19 m wide at the rate of 25 per meter?

32 Wi ol 3T 19 i i i M e T H £

25 gfd Hiex it 2§ TerdaT T SATem?
(A)Z 2480 (B)¥ 2510
(C)T 2550 (D) T 2580
The value of the following expression is?
frfeftaa stfireaft 1 am @ 82
3784x53+3784x47
(A) 378400 (B) 263600
(C) 483700 (D) 378500
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